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➤➦➥➇➜③➧✕➨➄➞➩➛➅➾✦➛➇➭➲➥➇➸✾➝➶➛s➫ ➺➄➟■➯➮➤➦➥➇➜❇➞ ➫ ➺➄➟■➛s➜❇➢➄➜③➥✾➵✱➟■➭③➭❿➟■➭✴➛s➺➊➯➮➫ ➝❪➫➩➭❇➾t➟✡➞ ➞✍➱❝➺➄➥⑤➾✧➺❻å❊➭❿➟✡➟✪æ■ç è✔ç✂↕t➟✡➜③➞ ➫ ➺➄➟✱➝❪➛s➺➊➯qô➄➜➶➛s➺➊➵✡✃
å⑧ê■ë➇ë❝õsì①➘❤é✍➫ ➟✡➸❤➥➇➞➩➯➬å⑧ê■ë➇ö➇ï✔ì①➘❤❒✧➥➇➧➲➛s➺➄➥❇➛s➺➊➯✚➼✦➳➄➥➇➧✕➸➊➭✕å⑧ê■ë➇ë➇ï✔ì❿ìt➝③➳➊➛⑤➝✫↕✦➛s➜❿➝③➞ ➟✱➝❿➝■➹ ➭✧➤➦➥➇➜③➧✕➨➄➞➩➛➲➧➲➛✛➡❪➸❤➟❴➵✱➥➇➧❴➢➄➞ ➟✱➝③➟✡➞ ➡
➾✧➜③➥➇➺➄➴✚➤➦➥➇➜✴➭❿➟✡➜③➫ ➟■➭✕➟✱➚✾➳➄➫ ➸➄➫ ➝③➫ ➺➄➴➅➵✱➥➇➺➊➯✾➫ ➝③➫ ➥➇➺➊➛s➞✦➳➄➟✱➝③➟✡➜③➥✔➭③➵✱➟■➯➄➛➇➭⑧➝③➫➩➵✱➫ ➝⑧➡❦➥➇➜❴➛s➺❝➡➅➥s➝③➳➄➟✡➜✤➤➦➥➇➜③➧÷➥s➤✍➺➄➥➇➺➄➞ ➫ ➺➄➟■➛s➜③➫ ➝⑧➡➇➻ ä ➺
➢➊➛s➜❿➝③➫➩➵✱➨➄➞➩➛s➜■➘✾ø✍➥➇➱➇➥✔➭❿ù✡➱⑤➛☎➛s➺➊➯❇ú★➥➇➞ ➫ ➝③➫➩➭✫å❖ûsü➇ü➇ö✔ì❣➭❿➳➄➥⑤➾q➝③➳➊➛⑤➝✦➝③➳➄➟✫➨➊➭❿➟❁➥s➤★↕✦➛s➜❿➝③➞ ➟✱➝❿➝■➹ ➭☛➤➦➥➇➜③➧✕➨➄➞➩➛✮➫➩➭✦➨➄➺❝➾✦➛s➜③➜➶➛s➺✔➝③➟■➯✤➤➦➥➇➜
↔✍❒✺❮t❰➙➥➇➜✺➭⑧➝③➥✾➵➶➳➊➛➇➭⑧➝③➫➩➵❁➽➇➥➇➞➩➛⑤➝③➫ ➞ ➫ ➝⑧➡✴➢➄➜③➥✾➵✱➟■➭③➭❿➟■➭✡➻❣➼✦➳➄➟✮➛s➫ ➧ý➥s➤✬➝③➳➄➫➩➭✺➢➊➛s➢❤➟✡➜✧➫➩➭✦➝③➥➲➴➇➟✡➺➄➟✡➜➶➛s➞ ➫ ù✡➟✫↕✦➛s➜❿➝③➞ ➟✱➝❿➝■➹ ➭✦➤➦➥➇➜③➧✕➨➄➞➩➛
➝③➥✴➛✤➾✧➫➩➯✾➟☎➵✱➞➩➛➇➭③➭✦➥s➤★➺➄➥➇➺➄➞ ➫ ➺➄➟■➛s➜✦➢➄➜③➥✾➵✱➟■➭③➭❿➟■➭✡➻

ä ➺➲➥➇➜➶➯✾➟✡➜✟➝③➥☎➴➇➫ ➽➇➟✺➛✫➢➄➜③➟■➵✱➫➩➭❿➟✺➯✾➟✱➪➊➺➄➫ ➝③➫ ➥➇➺➲➥s➤✗➛✫➞ ➫ ➺➄➟■➛s➜❣➢➄➜③➥✾➵✱➟■➭③➭✡➘s➪➊➜➶➭⑧➝❣➜③➟■➵✡➛s➞ ➞✾➝③➳➊➛⑤➝❣➝③➳➄➟✺þÙ➥➇➞➩➯➲➯✾➟■➵✱➥➇➧❴➢❤➥✔➭❿➫ ➝③➫ ➥➇➺
å❊➭❿➟✡➟✮↕t➜③➥✾➵➶➱❝➾t➟✡➞ ➞✗➛s➺➊➯✷é❁➛✛➽❝➫➩➭✮å⑧ê■ë➇ë➄ê✛ì①➘➊ÿ❝➟■➵①➝③➫ ➥➇➺✁�✾➻ õsì✦➭⑧➝➶➛⑤➝③➟■➭✦➝③➳➊➛⑤➝✍➛s➺❝➡❇➢➄➨➄➜③➟✡➞ ➡❇➺➄➥➇➺❚➯✾➟✱➝③➟✡➜③➧❴➫ ➺➄➫➩➭⑧➝③➫➩➵☎➭⑧➝➶➛⑤➝③➫ ➥➇➺➊➛s➜③➡
➢➄➜③➥✾➵✱➟■➭③➭✦➵✡➛s➺✷➸❤➟☎➾✧➜③➫ ➝❿➝③➟✡➺❪➫ ➺❪➝③➳➄➟✫➤➦➥➇➜③➧

Xt =

∞
∑

ℓ=−∞

φℓǫt−ℓ, (ǫt) ∼ WN(0, σ2)
å⑧ê➇➻ ê✛ì

➾✧➳➄➟✡➜③➟ ∑

ℓ φ2
ℓ < ∞ ➻★➼✦➳➄➟✦➢➄➜③➥✾➵✱➟■➭③➭

(ǫt)
➫➩➭✟➵✡➛s➞ ➞ ➟■➯✮➝③➳➄➟✦➞ ➫ ➺➄➟■➛s➜✟➫ ➺➄➺➄➥⑤➽⑤➛⑤➝③➫ ➥➇➺✕➢➄➜③➥✾➵✱➟■➭③➭✬➥s➤➊➝③➳➄➟✧➢➄➜③➥✾➵✱➟■➭③➭

X = (Xt)
➘

➛s➺➊➯✴➝③➳➄➟✫➺➄➥s➝➶➛⑤➝③➫ ➥➇➺
(ǫt) ∼ WN(0, σ2)

➭❿➫ ➴➇➺➄➫ ➪➊➟■➭☛➝③➳➊➛⑤➝
(ǫt)

➫➩➭✦➛✄✂☛æ✆☎✞✝✟✂✡✠☞☛✍✌✼æ✏✎✒✑✓☛✕✔✡æ✱➘❝➝③➳➊➛⑤➝✧➫➩➭✧➛✤➭⑧➝➶➛⑤➝③➫ ➥➇➺➊➛s➜③➡➲➭❿➟✱➠
✃✔➨➄➟✡➺➊➵✱➟❁➥s➤✬➵✱➟✡➺✔➝③➟✡➜③➟■➯✴➛s➺➊➯✴➨➄➺➊➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➟■➯❴➜➶➛s➺➊➯✾➥➇➧✂➽⑤➛s➜③➫➩➛s➸➄➞ ➟■➭☛➾✧➫ ➝③➳❪➵✱➥➇➧❴➧❴➥➇➺❇➽⑤➛s➜③➫➩➛s➺➊➵✱➟

σ2 ➻✟↔✺➺❪➫ ➺➊➯✾➟✡➢❤➟✡➺➊➯✾➟✡➺✔➝
➛s➺➊➯✷➫➩➯✾➟✡➺✔➝③➫➩➵✡➛s➞ ➞ ➡❪➯✾➫➩➭⑧➝③➜③➫ ➸➄➨✾➝③➟■➯➅å➦➫ ➫➩➯➊ì✧➭❿➟■✃✔➨➄➟✡➺➊➵✱➟☎➥s➤✟➜➶➛s➺➊➯✾➥➇➧ý➽⑤➛s➜③➫➩➛s➸➄➞ ➟■➭✧➾✧➫ ➝③➳❚➧❴➟■➛s➺❚ü➲➛s➺➊➯❚➵✱➥➇➧❴➧❴➥➇➺✷➽⑤➛s➜③➫➩➛s➺➊➵✱➟

σ2
➫➩➭✦➭❿➥➇➧❴➟✱➝③➫ ➧❴➟■➭t➵✡➛s➞ ➞ ➟■➯✴➛✖✔✗✌✙✘✚✑✓✎❝è✛✂✡✠☞☛✍✌✼æ✜✎✒✑✓☛✕✔✡æ✱➘➄➛s➺➊➯➲➾✧➫ ➞ ➞✝➸❤➟✫➯✾➟✡➺➄➥s➝③➟■➯➲➸❝➡

IID(0, σ2)
➻✣✢✍➸❝➽❝➫ ➥➇➨➊➭❿➞ ➡➲➛✕➭⑧➝③➜③➥➇➺➄➴

➾✧➳➄➫ ➝③➟✷➺➄➥➇➫➩➭❿➟❪➫➩➭➲➛s➞➩➭❿➥❦➛▼➾t➟■➛s➱➅➾✧➳➄➫ ➝③➟✷➺➄➥➇➫➩➭❿➟➇➘☛➸❤➟■➵✡➛s➨➊➭❿➟❪➫ ➺➊➯✾➟✡➢❤➟✡➺➊➯✾➟✡➺➊➵✱➟✷➟✡➺✔➝➶➛s➫ ➞➩➭❴➨➄➺➊➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➟■➯✾➺➄➟■➭③➭✡➘✟➸➄➨✾➝❴➝③➳➄➟
➜③➟✡➽➇➟✡➜➶➭❿➟❇➫➩➭✤➺➄➥s➝❴➝③➜③➨➄➟➇➻➬➼✦➳➄➟✷➢➄➜③➥✾➵✱➟■➭③➭

X
➫➩➭❴➭③➛s➫➩➯➅➝③➥❦➸❤➟✥✤ ☛✍✎✝æ✆☎✓✘✚➾✧➳➄➟✡➺

(ǫt) ∼ IID(0, σ2)
➘t➛s➺➊➯➷➫➩➭➲➭③➛s➫➩➯➅➝③➥

➸❤➟✦✎✒✑✓✎✧✤ ☛✍✎✝æ✆☎✓✘❪➫ ➺➅➝③➳➄➟✴➥➇➢➄➢❤➥✔➭❿➫ ➝③➟❇➵✡➛➇➭❿➟➇➻❚➼✦➳➄➟❇➛s➨✾➝③➥➇➜③➟✡➴➇➜③➟■➭③➭❿➫ ➽➇➟✤➧❴➥⑤➽❝➫ ➺➄➴✚➛✛➽➇➟✡➜➶➛s➴➇➟✷å❊↔✍❒✩★✚↔❁ì☎➧❴➥✾➯✾➟✡➞t➾✧➫ ➝③➳➅➫ ➫➩➯
➺➄➥➇➫➩➭❿➟❇➫➩➭✕➝③➳➄➟❪➞ ➟■➛➇➯✾➫ ➺➄➴▼➟✱➚➄➛s➧❴➢➄➞ ➟❇➥s➤✍➞ ➫ ➺➄➟■➛s➜✤➢➄➜③➥✾➵✱➟■➭③➭❇å❊➭❿➟✡➟➅æ■ç è✔ç➷↕t➜③➥✾➵➶➱❝➾t➟✡➞ ➞t➛s➺➊➯➬é❁➛✛➽❝➫➩➭✡➘✧ê■ë➇ë➄ê✛ì①➻✫✪✟➚➄➛s➧❴➢➄➞ ➟■➭
➥s➤✦➺➄➥➇➺➄➞ ➫ ➺➄➟■➛s➜✮➧❴➥✾➯✾➟✡➞➩➭☎➫ ➺➊➵✱➞ ➨➊➯✾➟➇➘★➛s➧❴➥➇➺➄➴✷➧➲➛s➺❝➡▼➥s➝③➳➄➟✡➜➶➭✡➘✗➝③➳➄➟✴➭❿➟✡➞ ➤ñ➠✏➟✱➚➄➵✱➫ ➝③➫ ➺➄➴✷➝③➳➄➜③➟■➭❿➳➄➥➇➞➩➯❦➛s➨✾➝③➥➇➜③➟✡➴➇➜③➟■➭③➭❿➫ ➽➇➟❪å❖ÿ☞✪✟➠
➼✬↔✍❒✍ì★➧❴➥✾➯✾➟✡➞✬å❊➭❿➟✡➟✍➼☞➥➇➺➄➴➊➘➄ê■ë➇ë➇ü✔ì①➘⑤➝③➳➄➟✍➭❿➧❴➥❝➥s➝③➳✤➝③➜➶➛s➺➊➭❿➫ ➝③➫ ➥➇➺➲➛s➨✾➝③➥➇➜③➟✡➴➇➜③➟■➭③➭❿➫ ➥➇➺❪å❖ÿ✾➼✬↔✍❒✍ì★➧❴➥✾➯✾➟✡➞✬å❊➭❿➟✡➟✍➼☞➟✡➜✆✬➇➭❿➽❝➫ ➜❿➝➶➛
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➤➦➥➇➜③➧✕➨➄➞➩➛➄➻✟ÿ❝➟■➵①➝③➫ ➥➇➺✰✳✕➭⑧➝➶➛⑤➝③➟■➭✦➛✕➴➇➟✡➺➄➟✡➜➶➛s➞ ➫ ù✡➟■➯➲↕✦➛s➜❿➝③➞ ➟✱➝❿➝■➹ ➭☛➤➦➥➇➜③➧✕➨➄➞➩➛✮➾✧➳➄➫➩➵➶➳❪➵✡➛s➺❇➸❤➟☎➛s➢➄➢➄➞ ➫ ➟■➯➲➝③➥✤➸❤➥s➝③➳❇➞ ➫ ➺➄➟■➛s➜✧➛s➺➊➯
➺➄➥➇➺➄➞ ➫ ➺➄➟■➛s➜✦➢➄➜③➥✾➵✱➟■➭③➭❿➟■➭✡➻✟ÿ❝➟■➵①➝③➫ ➥➇➺❪î❴➫ ➞ ➞ ➨➊➭⑧➝③➜➶➛⑤➝③➟■➭☛➝③➳➄➟☎➴➇➟✡➺➄➟✡➜➶➛s➞ ➫ ù✡➟■➯✴↕✦➛s➜❿➝③➞ ➟✱➝❿➝■➹ ➭t➤➦➥➇➜③➧✕➨➄➞➩➛✕➾✧➫ ➝③➳❚❐✫↔✍❒✺❮t❰➙➧❴➥✾➯✾➟✡➞➩➭✡➻
ú❣➜③➥❝➥s➤❊➭✧➛s➜③➟✫➜③➟✡➞ ➟✡➴✔➛⑤➝③➟■➯➲➝③➥✴ÿ❝➟■➵①➝③➫ ➥➇➺✁�✾➻

♦ ♣❛ß✫Ý✡q✫Ý✬ã✱ß✮Ürq✮Ü❪àts✉q☎Þ☞Ý✡✈❋✇tÝ✗Ý②①✿③⑤④⑤ß☎Þ▲⑥➂á✄✈❋q⑦④⑤ß☎Þ⑧✈✱ã✱Ü✄✇⑨q☎Þ⑧⑩❪Þ★ß➲â❶✇⑨③❷③❷✇⑨③

➼✦➳➄➟✮➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺➲➤➦➨➄➺➊➵①➝③➫ ➥➇➺✷➥s➤✟➛✤➜③➟■➛s➞ ➠✏➽⑤➛s➞ ➨➄➟■➯❇➭⑧➝➶➛⑤➝③➫ ➥➇➺➊➛s➜③➡➲➢➄➜③➥✾➵✱➟■➭③➭
X = (Xt)

➫➩➭✺➯✾➟✱➪➊➺➄➟■➯❪➸❝➡

ρX(·) =
γX(·)
γX(0)

, γX(i) =
❮☛➥⑤➽

(Xt, Xt+i)
➤➦➥➇➜✺➛s➞ ➞✗➫ ➺✔➝③➟✡➴➇➟✡➜➶➭

t, i.

↔✍➭③➭❿➨➄➧❴➟✮➝③➳➊➛⑤➝
X
➫➩➭❁➵✱➟✡➺✔➝③➟✡➜③➟■➯❚➛s➺➊➯❪➝③➳➊➛⑤➝✍➝③➳➄➟✕➥➇➸➊➭❿➟✡➜③➽⑤➛⑤➝③➫ ➥➇➺➊➭✺➛s➜③➟

X1, . . . , Xn

➻✺➼✦➳➄➟✤➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺
ρX(i)

➛s➺➊➯✷➛s➨✾➝③➥✾➵✱➥⑤➽⑤➛s➜③➫➩➛s➺➊➵✱➟
γX(i)

➘✾➤➦➥➇➜
0 ≤ i < n

➘➊➛s➜③➟❁➴➇➟✡➺➄➟✡➜➶➛s➞ ➞ ➡➲➟■➭⑧➝③➫ ➧➲➛⑤➝③➟■➯❪➸❝➡➲➝③➳➄➟✡➫ ➜✍➭③➛s➧❴➢➄➞ ➟✫➽➇➟✡➜➶➭❿➫ ➥➇➺➊➭

ρ̂X(i) = ρ̂X(−i) =
γ̂X(i)

γ̂X(0)
, γ̂X(i) = γ̂X(−i) =

1

n

n−i
∑

t=1

XtXt+i.

ô➄➥➇➜✫➪➄➚✾➟■➯
m ≥ 1

➘✗➞ ➟✱➝☎➨➊➭✮➵✱➥➇➺➊➭❿➫➩➯✾➟✡➜❁➝③➳➄➟❴➤➦➥➇➞ ➞ ➥⑤➾✧➫ ➺➄➴❪➽➇➟■➵①➝③➥➇➜➶➭❁➥s➤✦➭③➛s➧❴➢➄➞ ➟➲➛s➺➊➯✚➝③➳➄➟✡➥➇➜③➟✱➝③➫➩➵✡➛s➞✟➛s➨✾➝③➥✾➵✱➥⑤➽⑤➛s➜③➫➩➛s➺➊➵✱➟■➭
➛s➺➊➯✷➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺➊➭

γm = (γX(0), . . . , γX(m)), γ̂m = (γ̂X(0), . . . , γ̂X(m)),

ρm = (ρX(1), . . . , ρX(m))
➛s➺➊➯

ρ̂m = (ρ̂X(1), . . . , ρ̂X(m)).

➼✦➳➄➟✫➤➦➥➇➞ ➞ ➥⑤➾✧➫ ➺➄➴✤➝③➳➄➟✡➥➇➜③➟✡➧ý➫➩➭✺➭⑧➝➶➛s➺➊➯➄➛s➜➶➯▼å❊➭❿➟✡➟✮↕t➜③➥✾➵➶➱❝➾t➟✡➞ ➞❡➛s➺➊➯✷é❁➛✛➽❝➫➩➭☎å⑧ê■ë➇ë➄ê✛ì①➘➊❮☛➳➊➛s➢✾➝③➟✡➜❁õsì✦➛s➺➊➯❪➴➇➫ ➽➇➟■➭☛➝③➳➄➟
➛➇➭❿➡❝➧❴➢✾➝③➥s➝③➫➩➵☛➯✾➫➩➭⑧➝③➜③➫ ➸➄➨✾➝③➫ ➥➇➺✕➥s➤ √

n (γ̂m − γm)
➛s➺➊➯ √

n (ρ̂m − ρm)
➫ ➺✮➝③➳➄➟✦➵✡➛➇➭❿➟☛➾✧➳➄➟✡➜③➟

X
➫➩➭✬➛✍➞ ➫ ➺➄➟■➛s➜✬➢➄➜③➥✾➵✱➟■➭③➭✡➻

❸✏❹✡❺☞❻ ➔ ❺☞❼❾❽❍❿❵➀➂➁ æ❋✌
X = (Xt) ➃ æ➄☎✫✤ ☛✍✎✝æ✆☎✓✘❏➅✒✘✚✑✞➆➶æ✗✔✆✔✆➇✏✌✭✠❲☎✓✌✏☛✕✔➄☎✖➅✒✘✚✑✞➆➶æ✗✔✆✔✲✔❑☎✓✌✙☛✕✔✭➈✆➉✓☛✍✎❝è➋➊✿➌➇ç✍➌✆➍✫✂▲☛✍✌✭✠ (ǫt) ∼

IID(0, σ2)
➇

σ2 > 0
ç➏➎➐✔✆✔✗➑♥➒➲æ❡☎✓✤ ✔❑✑➓✌✭✠❲☎✓✌

E(ǫ4t ) = κσ4 < ∞ ☎✓✎✒➔ ∑∞
ℓ=−∞ |φℓ| < ∞ ç➣→✒✠➄æ✥↔⑤æ✆➆❋↕

✌❘✑✓✘✆✔ √
n (γ̂m − γm)

☎✓✎✒➔ √
n (ρ̂m − ρm)

☎✓✘③æ❏☎❭✔✗➉✓➒✩➅✒✌❘✑✓✌✙☛❵➆✆☎✓✤✍✤ ➉➙✎✒✑✓✘✗➒➙☎✓✤✍✤ ➉✲➔✓☛✕✔✗✌✙✘✗☛ ➃ ➑♥✌✼æ✆➔✟✂▲☛✍✌✭✠✲➒➲æ✆☎✓✎✄➛■æ❋✘✚✑✖☎✓✎✒➔
↔✓☎✓✘✗☛❵☎✓✎✒➆➶æ✫è✹☛✍↔⑤æ❋✎ ➃ ➉✟➜❳☎✓✘✗✌✙✤ æ❋✌✙✌❭➝ ✔✯➈❋✑✓✘✗➒✛➑♥✤ ☎❭✔

lim
n→∞

n ➞ ✑✓↔ {γ̂X(i), γ̂X(j)} = vi,j , lim
n→∞

n ➞ ✑✓↔ {ρ̂X(i), ρ̂X(j)} = wi,j ,

➟



✂✡✠➄æ❋✘③æ✣➈❋✑✓✘
i, j > 0

vi,j = (κ − 3)γX(i)γX(j) +

∞
∑

ℓ=−∞

γX(ℓ) {γX(ℓ + j − i) + γX(ℓ − j − i)} ,
å❖û✾➻ ê✛ì

wi,j =

∞
∑

ℓ=−∞

ρX(ℓ) {2ρX(i)ρX(j)ρX(ℓ) − 2ρX(i)ρX(ℓ + j)

−2ρX(j)ρX(ℓ + i) + ρX(ℓ + j − i) + ρX(ℓ − j − i)} .
å❖û✾➻ û➇ì

ä ➝❴➫➩➭✕➫ ➧❴➢❤➥➇➜❿➝➶➛s➺✔➝✕➝③➥Ù➺➄➥s➝③➟✴➝③➳➊➛⑤➝✤➝③➳➄➟❪➫ ➫➩➯➬➛➇➭③➭❿➨➄➧❴➢✾➝③➫ ➥➇➺➷➥➇➺
(ǫt)

➫➩➭✕➽➇➟✡➜③➡Ù➜③➟■➭⑧➝③➜③➫➩➵①➝③➫ ➽➇➟➇➻➠✢✍➺➄➞ ➡❦➞ ➫ ➺➄➟■➛s➜✤➧❴➥✾➯✾➟✡➞➩➭✡➘
➟■➭③➭❿➟✡➺✔➝③➫➩➛s➞ ➞ ➡❦➝③➳➄➟❚↔✍❒✩★✚↔✳➧❴➥✾➯✾➟✡➞➩➭❴➾✧➫ ➝③➳✪➫ ➫➩➯➬➺➄➥➇➫➩➭❿➟■➭✡➘t➛s➜③➟✷➵✱➥⑤➽➇➟✡➜③➟■➯❦➸❝➡➬➼✦➳➄➟✡➥➇➜③➟✡➧ û✾➻ ê➇➻ ä ➺✪➽❝➫ ➟✡➾ ➥s➤❁þÙ➥➇➞➩➯❡➹ ➭
➯✾➟■➵✱➥➇➧❴➢❤➥✔➭❿➫ ➝③➫ ➥➇➺✗➘✧➫ ➤✮➥➇➺➄➟▼➵✡➛s➺q➜③➟✡➢➄➞➩➛➇➵✱➟❚➝③➳➄➟Ù➛➇➭③➭❿➨➄➧❴➢✾➝③➫ ➥➇➺

(ǫt) ∼ IID(0, σ2)
➸❝➡➬➝③➳➄➟Ù➛➇➭③➭❿➨➄➧❴➢✾➝③➫ ➥➇➺

(ǫt) ∼
WN(0, σ2)

➘✾➝③➳➄➟✡➺✷➥➇➺➄➟☎➵✡➛s➺✷➵✱➥⑤➽➇➟✡➜✧➛s➞ ➧❴➥✔➭⑧➝✺➛s➞ ➞✝➝③➳➄➟✮➭⑧➝➶➛⑤➝③➫ ➥➇➺➊➛s➜③➡➲➺➄➥➇➺➄➞ ➫ ➺➄➟■➛s➜✦➢➄➜③➥✾➵✱➟■➭③➭❿➟■➭✡➻

➡ s✉q☎Þ☞Ý✡✈❋✇tÝ✗Ý②①✿③➏④⑤ß☎Þ▲⑥➂á✄✈❋q⑦④⑤ß☎Þ✳Ü❪ß✮Ür✈✱ã✱Ü✄✇⑨q☎Þ⑧⑩❪Þ★ß➲â❶✇⑨③❷③❷✇⑨③

ÿ✔➝➶➛s➺➊➯➄➛s➜➶➯q↕✦➛s➜❿➝③➞ ➟✱➝❿➝■➹ ➭➲➤➦➥➇➜③➧✕➨➄➞➩➛qå❖û✾➻ û➇ì➲➥➇➺➄➞ ➡➮➯✾➟✡➢❤➟✡➺➊➯➄➭✴➥➇➺q➝③➳➄➟▼➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺➬➤➦➨➄➺➊➵①➝③➫ ➥➇➺Ø➥s➤☎➝③➳➄➟▼➢➄➜③➥✾➵✱➟■➭③➭

X = (Xt)
➘✬➸➄➨✾➝✮➫➩➭✫➜③➟■➭⑧➝③➜③➫➩➵①➝③➟■➯✚➝③➥❚➞ ➫ ➺➄➟■➛s➜✫➢➄➜③➥✾➵✱➟■➭③➭❿➟■➭✡➻➲➼✦➳➄➟✤➤➦➥➇➞ ➞ ➥⑤➾✧➫ ➺➄➴❪➝③➳➄➟✡➥➇➜③➟✡➧ ➢➄➜③➥⑤➽❝➫➩➯✾➟■➭✫➛s➺Ù➟✱➚❝➝③➟✡➺➊➭❿➫ ➥➇➺❦➥s➤

↕✦➛s➜❿➝③➞ ➟✱➝❿➝■➹ ➭✗➤➦➥➇➜③➧✕➨➄➞➩➛✦➝③➥❁➺➄➥➇➺➄➞ ➫ ➺➄➟■➛s➜☞➢➄➜③➥✾➵✱➟■➭③➭❿➟■➭✗➾✧➳➄➫➩➵➶➳✗➘⑤➨➄➺➊➯✾➟✡➜★➛✍➭❿➡❝➧❴➧❴➟✱➝③➜③➡☎➛➇➭③➭❿➨➄➧❴➢✾➝③➫ ➥➇➺✗➘✛➫ ➺❝➽➇➥➇➞ ➽➇➟■➭✗➫ ➺✤➛➇➯➄➯✾➫ ➝③➫ ➥➇➺
➝③➳➄➟✮ø✫➨➄➜❿➝③➥✔➭❿➫➩➭t➥s➤✬➝③➳➄➟☎➞ ➫ ➺➄➟■➛s➜✦➫ ➺➄➺➄➥⑤➽⑤➛⑤➝③➫ ➥➇➺➊➭

ǫt

➥s➤
X
➛s➺➊➯✴➝③➳➄➟✮➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺✴➤➦➨➄➺➊➵①➝③➫ ➥➇➺

ρǫ2
➥s➤

(ǫ2t )
➻

❸✏❹✡❺☞❻ ➔ ❺☞❼➤➢➥❿❵➀➧➦ æ✥➆✆✑✓✎❲✔✗☛❵➔➇æ❋✘✦✌✭✠➄æ✟➈✆✘✚☎✓➒➲æ❋✂✣✑✓✘✚✝➨☎✓✎✒➔➩☎❭✔✆✔✗➑♥➒✩➅✒✌✙☛❵✑✓✎❲✔✫✑✿➈➨→✒✠➄æ✆✑✓✘③æ❋➒⑦➫❝ç✍➌❭➇ ➃ ➑♥✌✟✂☛æ✫✘③æ❋✤ ☎❑➭➓✌✭✠➄æ
✤ ☛✍✎✝æ✆☎✓✘✗☛✍✌✙➉✄☎❭✔✆✔✗➑♥➒✩➅✒✌✙☛❵✑✓✎

(ǫt) ∼ IID(0, σ2)
☎✓✎✒➔➙✂☛æ✏➒➙☎✞✝➇æ❏✌✭✠➄æ✯➈❋✑✓✤✍✤ ✑✓✂▲☛✍✎❝è✄✔✗➉✓➒✛➒➲æ❋✌✙✘✗➉✖☎❭✔✆✔✗➑♥➒✩➅✒✌✙☛❵✑✓✎

Eǫt1ǫt2ǫt3ǫt4 = 0
✂✡✠➄æ❋✎

t1 6= t2, t1 6= t3
☎✓✎✒➔

t1 6= t4.
å❵✳➄➻ ê✛ì

→✒✠➄æ❋✎
ρǫ2 =

∑+∞
h=−∞ ρǫ2(h)

æ✚➭✴☛✕✔✗✌❵✔✆➇❳☎✓✎✒➔✄✂☛æ✛✠❲☎✓↔⑤æ➙✌✭✠➄æ✮è✔æ❋✎✝æ❋✘✚☎✓✤ ☛ ➛■æ✆➔✄➜❳☎✓✘✗✌✙✤ æ❋✌✙✌❭➝ ✔②➈❋✑✓✘✗➒✛➑♥✤ ☎✏➈❋✑✓✘✖☎✓➑♥✌❘✑✞➆✆✑✓↔✓☎✓✘✗☛✍↕
☎✓✎✒➆➶æ✗✔

lim
n→∞

n ➞ ✑✓↔ {γ̂X(i), γ̂X(j)} = vi,j + v∗i,j ,
å❵✳➄➻ û➇ì

✂✡✠➄æ❋✘③æ
vi,j

☛✕✔❏➔➇æ❵➯✯✎✝æ✆➔ ➃ ➉➄➊◆➫❝ç✍➌✆➍✄☎✓✎✒➔

v∗i,j = (κ − 1)
{

(ρǫ2 − 3)γX(i)γX(j)

+
∞
∑

ℓ=−∞

γX(ℓ − i) {γX(ℓ − j) + γX(ℓ + j)} ρǫ2(ℓ)

}

.
å❵✳➄➻ ✳✔ì

➲ ➈
√

n (γ̂m − γm)
L→ N (0, Σγ̂m

)
✂✡✠➄æ❋✎

n → ∞,
å❵✳➄➻ î❝ì

✂✡✠➄æ❋✘③æ✏✌✭✠➄æ✤æ❋✤ æ❋➒➲æ❋✎✧✌❵✔❏✑✿➈
Σγ̂m

☎✓✘③æ❁è✹☛✍↔⑤æ❋✎ ➃ ➉➄➊❘➳✔ç ➫❋➍❭➇✣✌✭✠➄æ❋✎

√
n (ρ̂m − ρm)

L→ N (0, Σρ̂m
) ,

å❵✳➄➻ �➇ì

➵



✂✡✠➄æ❋✘③æ➙✌✭✠➄æ✴æ❋✤ æ❋➒➲æ❋✎✧✌❵✔✟✑✿➈
Σρ̂m

➇➥➈❋✑✓✘
i, j > 0

➇✩☎✓✘③æ✮è✹☛✍↔⑤æ❋✎ ➃ ➉✄✌✭✠➄æ✮è✔æ❋✎✝æ❋✘✚☎✓✤ ☛ ➛■æ✆➔✲➜❳☎✓✘✗✌✙✤ æ❋✌✙✌❭➝ ✔②➈❋✑✓✘✗➒✛➑♥✤ ☎✜➈❋✑✓✘✖☎✓➑♥✌❘✑✓↕
➆✆✑✓✘✗✘③æ❋✤ ☎✓✌✙☛❵✑✓✎❲✔

lim
n→∞

n ➞ ✑✓↔ {ρ̂X(i), ρ̂X(j)} = wi,j + w∗
i,j ,

å❵✳➄➻ ï✔ì

✂✡✠➄æ❋✘③æ
wi,j

☛✕✔❏➔➇æ❵➯✯✎✝æ✆➔ ➃ ➉➄➊◆➫❝ç ➫❋➍✄☎✓✎✒➔

w∗
i,j = (κ − 1)

∞
∑

ℓ=−∞

ρǫ2(ℓ)
[

2ρX(i)ρX(j)ρ2
X(ℓ) − 2ρX(j)ρX(ℓ)ρX(ℓ + i)

−2ρX(i)ρX(ℓ)ρX(ℓ + j) + ρX(ℓ + i) {ρX(ℓ + j) + ρX(ℓ − j)}] . å❵✳➄➻ õsì

þÙ➟☎➺➄➥⑤➾✭➴➇➫ ➽➇➟☎➛❴➭❿➟✡➜③➫ ➟■➭t➥s➤★➜③➟✡➧➲➛s➜③➱✾➭✡➻

➸ ❺☞❼ →✾➔❭➺ ➢➥❿❵➀ ô➄➥➇➞ ➞ ➥⑤➾✧➫ ➺➄➴➲❒✧➟✡➧➲➛s➜③➱▼ê✫➥s➤✟➼✦➳➄➟✡➥➇➜③➟✡➧✒õ❝➻ û✾➻ û✕➫ ➺❚↕t➜③➥✾➵➶➱❝➾t➟✡➞ ➞❡➛s➺➊➯✷é❁➛✛➽❝➫➩➭✮å⑧ê■ë➇ë➄ê✛ì①➘
wi,j

➵✡➛s➺❚➛s➞➩➭❿➥
➸❤➟☎➾✧➜③➫ ➝❿➝③➟✡➺❚➛➇➭

wi,j =

∞
∑

ℓ=1

wi(ℓ)wj(ℓ),
➾✧➳➄➟✡➜③➟

wi(ℓ) = {2ρX(i)ρX(ℓ) − ρX(ℓ + i) − ρX(ℓ − i)} .

ÿ❝➫ ➧❴➫ ➞➩➛s➜③➞ ➡✴➾t➟✫➳➊➛✛➽➇➟

w∗
i,j = (κ − 1)

∞
∑

ℓ=1

ρǫ2(ℓ)wi(ℓ)wj(ℓ),

➾✧➳➄➫➩➵➶➳ ➭❿➳➄➥⑤➾✺➭❚➝③➳➊➛⑤➝■➘✤➾✧➳➄➟✡➺➄➟✡➽➇➟✡➜
ρX(·) ➘ κ

➛s➺➊➯
ρǫ2(·)

➛s➜③➟➬➛✛➽⑤➛s➫ ➞➩➛s➸➄➞ ➟➇➘✮➝③➳➄➟✪➭⑧➝➶➛s➺➊➯➄➛s➜➶➯ ➛s➺➊➯ ➴➇➟✡➺➄➟✡➜➶➛s➞ ➫ ù✡➟■➯
↕✦➛s➜❿➝③➞ ➟✱➝❿➝■➹ ➭t➤➦➥➇➜③➧✕➨➄➞➩➛➇➭✦➛s➜③➟☎➵✱➥➇➧❴➢➄➨✾➝③➟■➯❪➽➇➟✡➜③➡✴➭❿➫ ➧❴➫ ➞➩➛s➜③➞ ➡➇➻

➸ ❺☞❼ →✾➔❭➺ ➢➥❿✍❽ ✪❣➽➇➟✡➺❚➤➦➥➇➜✍➺➄➥➇➺✚➞ ➫ ➺➄➟■➛s➜✺➢➄➜③➥✾➵✱➟■➭③➭❿➟■➭✡➘❤➭⑧➝➶➛s➺➊➯➄➛s➜➶➯❚↕✦➛s➜❿➝③➞ ➟✱➝❿➝■➹ ➭✍➵✱➥❝➟❋♠✴➵✱➫ ➟✡➺✔➝➶➭
vi,j

➛s➺➊➯
wi,j

➢➄➜③➥⑤➽❝➫➩➯✾➟
➴➇➥❝➥✾➯❇➛s➢➄➢➄➜③➥✛➚✾➫ ➧➲➛⑤➝③➫ ➥➇➺➊➭☛➥s➤ √

n
❮☛➥⑤➽

(γ̂X(i), γ̂X(j))
➛s➺➊➯ √

n
❮☛➥⑤➽

(ρ̂X(i), ρ̂X(j))
➾✧➳➄➟✡➺

i
➥➇➜

j
➫➩➭✦➽➇➟✡➜③➡➲➞➩➛s➜③➴➇➟➇➘

➸❤➟■➵✡➛s➨➊➭❿➟

v∗i,j → 0
➛s➺➊➯

w∗
i,j → 0

➾✧➳➄➟✡➺
i → ∞ ➥➇➜

j → ∞.

➻ ➥s➝③➟❪➳➄➥⑤➾t➟✡➽➇➟✡➜✮➝③➳➊➛⑤➝■➘❣➤➦➥➇➜✤➪➄➚✾➟■➯
(i, j)

➘❣➫ ➝➲➫➩➭✤➟■➛➇➭❿➡Ù➝③➥▼➪➊➺➊➯➬➟✱➚➄➛s➧❴➢➄➞ ➟■➭✤➥s➤✍➺➄➥➇➺➄➞ ➫ ➺➄➟■➛s➜✤➢➄➜③➥✾➵✱➟■➭③➭❿➟■➭✕➭❿➨➊➵➶➳➷➝③➳➊➛⑤➝

v∗i,j/vi,j

➛s➺➊➯
w∗

i,j/wi,j

➛s➜③➟☎➛s➜③➸➄➫ ➝③➜➶➛s➜③➫ ➞ ➡❴➞➩➛s➜③➴➇➟➇➻

➼✦➳➄➟✫➤➦➥➇➞ ➞ ➥⑤➾✧➫ ➺➄➴✤➜③➟✡➧➲➛s➜③➱✴➵✱➥➇➺➊➵✱➟✡➜③➺➊➭t➝③➳➄➟❁➝③➟■➵➶➳➄➺➄➫➩➵✡➛s➞☞➛➇➭③➭❿➨➄➧❴➢✾➝③➫ ➥➇➺➊➭t➥s➤✬➝③➳➄➟✫➝③➳➄➟✡➥➇➜③➟✡➧✷➻

➸ ❺☞❼ →✾➔❭➺ ➢➥❿✕➢ ➼✦➳➄➟✧➢➄➜③➥❝➥s➤➊➥s➤➊➝③➳➄➟✦➝③➳➄➟✡➥➇➜③➟✡➧ ➜③➟✡➽➇➟■➛s➞➩➭☞➝③➳➊➛⑤➝★➝③➳➄➟✺➭❿➡❝➧❴➧❴➟✱➝③➜③➡✮➛➇➭③➭❿➨➄➧❴➢✾➝③➫ ➥➇➺✷å❵✳➄➻ ê✛ì☞➫➩➭★➥➇➺➄➞ ➡☎➺➄➟✡➟■➯✾➟■➯
➝③➥❇➥➇➸✾➝➶➛s➫ ➺✚➛❴➝③➜➶➛➇➵①➝➶➛s➸➄➞ ➟☎➤➦➥➇➜③➧ ➤➦➥➇➜✺➝③➳➄➟✤➛➇➭❿➡❝➧❴➢✾➝③➥s➝③➫➩➵✮➵✱➥⑤➽⑤➛s➜③➫➩➛s➺➊➵✱➟■➭✡➘➄➸➄➨✾➝❁➫➩➭✺➺➄➥s➝❁➜③➟■✃✔➨➄➫ ➜③➟■➯❇➤➦➥➇➜✺➝③➳➄➟✡➫ ➜❁➟✱➚✾➫➩➭⑧➝③➟✡➺➊➵✱➟➇➻
➻ ➥s➝③➟✫➛s➞➩➭❿➥☎➝③➳➊➛⑤➝☎å❵✳➄➻ î❝ì✟➫➩➭☛➺➄➥s➝t➟✡➺✔➝➶➛s➫ ➞ ➟■➯➲➸❝➡❴➝③➳➄➟❁➛➇➭③➭❿➨➄➧❴➢✾➝③➫ ➥➇➺➊➭☛➧➲➛➇➯✾➟✍➫ ➺❪➼✦➳➄➟✡➥➇➜③➟✡➧➼✳➄➻ ê➇➘✔➸➄➨✾➝✦➴➇➟✡➺➄➟✡➜➶➛s➞❤➛➇➭③➭❿➨➄➧❴➢✾➠
➝③➫ ➥➇➺➊➭✡➘➄➭❿➨➊➵➶➳❪➛➇➭t➧❴➫ ➚✾➫ ➺➄➴➲➛➇➭③➭❿➨➄➧❴➢✾➝③➫ ➥➇➺➊➭✡➘✾➛s➜③➟❁➛✛➽⑤➛s➫ ➞➩➛s➸➄➞ ➟❁➫ ➺❇➝③➳➄➟✫➞ ➫ ➝③➟✡➜➶➛⑤➝③➨➄➜③➟❁➫ ➺❪➥➇➜➶➯✾➟✡➜☛➝③➥✤➥➇➸✾➝➶➛s➫ ➺✷➛✤➵✱➟✡➺✔➝③➜➶➛s➞✝➞ ➫ ➧❴➫ ➝
➝③➳➄➟✡➥➇➜③➟✡➧ò➫ ➧❴➢➄➞ ➡❝➫ ➺➄➴➷å❵✳➄➻ î❝ì✫➛s➺➊➯➮å❵✳➄➻ �➇ì❴å❊➭❿➟✡➟▼æ■ç è✔ç✷↕t➟✡➜③➞ ➫ ➺➄➟✱➝✕➛s➺➊➯❦ô➄➜➶➛s➺➊➵✡✃➬å⑧ê■ë➇ë❝õsì✍➥➇➜✮❒✧➥➇➧➲➛s➺➄➥❚➛s➺➊➯❦➼✦➳➄➥➇➧✕➸➊➭
å⑧ê■ë➇ë➇ï✔ì❿ì①➻

➼✦➳➄➟✤➤➦➥➇➞ ➞ ➥⑤➾✧➫ ➺➄➴✷➜③➟✡➧➲➛s➜③➱❚➭❿➳➄➥⑤➾✺➭✍➝③➳➊➛⑤➝☎➝③➳➄➟➲➽⑤➛s➞ ➫➩➯✾➫ ➝⑧➡✚➥s➤☛➝③➳➄➟✴➭⑧➝➶➛s➺➊➯➄➛s➜➶➯▼↕✦➛s➜❿➝③➞ ➟✱➝❿➝■➹ ➭❁➤➦➥➇➜③➧✕➨➄➞➩➛➇➭❁➫➩➭☎➛➇➵①➝③➨➊➛s➞ ➞ ➡✚➺➄➥s➝
➞ ➫ ➧❴➫ ➝③➟■➯❇➝③➥❴➝③➳➄➟✮➵✡➛➇➭❿➟❁➾✧➳➄➟✡➜③➟

ǫt

➫➩➭✺➛❴➭⑧➝③➜③➥➇➺➄➴✤➺➄➥➇➫➩➭❿➟➇➻

➽



➸ ❺☞❼ →✾➔❭➺ ➢➥❿ ➾ þq➳➄➟✡➺❪➝③➳➄➟
ǫ2t
➹ ➭✺➛s➜③➟❁➨➄➺➊➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➟■➯➲➝③➳➄➟✮➭⑧➝➶➛s➺➊➯➄➛s➜➶➯❪↕✦➛s➜❿➝③➞ ➟✱➝❿➝✦➤➦➥➇➜③➧✕➨➄➞➩➛➇➭✦➛s➢➄➢➄➞ ➡❇➸❤➟■➵✡➛s➨➊➭❿➟

v∗i,j = −2(κ − 1)γX(i)γX(j) + (κ − 1)γX(i) {γX(j) + γX(−j)} = 0

➛s➺➊➯
w∗

i,j = 0
➻

þÙ➟☎➺➄➥⑤➾➃➵✱➥➇➺➊➭❿➫➩➯✾➟✡➜t➝③➳➄➟☎➢➊➛s➜❿➝③➫➩➵✱➨➄➞➩➛s➜✺➵✡➛➇➭❿➟❁➾✧➳➄➟✡➜③➟
X
➫➩➭✺➛✤➾t➟■➛s➱➲➾✧➳➄➫ ➝③➟☎➺➄➥➇➫➩➭❿➟➇➻

➚ ❻ ➔ ❻❫➪❵➪ →✾➔❭➶ ➢➥❿❵➀➠➹❘➘✉❺ →♥➺➷➴ ❹✡➬ ➓ ❺➄➮✡❻❫➬ ➒ ❺❲➱ ➲ ➈
X = (ǫt)

➇⑨✂✡✠➄æ❋✘③æ
(ǫt)

✔❑☎✓✌✙☛✕✔✭➯tæ✗✔✛✌✭✠➄æ✲☎❭✔✆✔✗➑♥➒✩➅✒✌✙☛❵✑✓✎❲✔➙✑✿➈✁→✒✠➄æ✆✑✓↕
✘③æ❋➒✃➳✔ç✍➌❭➇✣✌✭✠➄æ❋✎✛➈❋✑✓✘

i, j ≥ 0
➇✯✌✭✠➄æ❁è✔æ❋✎✝æ❋✘✚☎✓✤ ☛ ➛■æ✆➔✟➜❳☎✓✘✗✌✙✤ æ❋✌✙✌❭➝ ✔✯➈❋✑✓✘✗➒✛➑♥✤ ☎❳➈❋✑✓✘❏☎✓➑♥✌❘✑✞➆✆✑✓↔✓☎✓✘✗☛❵☎✓✎✒➆➶æ✗✔✖➊❘➳✔ç ➫❋➍✟✠❲✑✓✤ ➔❭✔✏✂▲☛✍✌✭✠



















vi,j = v∗i,j = 0
☛ ➈

i 6= j

vi,i = γ2
ǫ (0)

☎✓✎✒➔
v∗i,i = ρǫ2(i)γǫ2(0)

☛ ➈
i > 0

v0,0 = γǫ2(0)
☎✓✎✒➔

v∗0,0 = (ρǫ2 − 1)γǫ2(0).

❐ ✎✒➔➇æ❋✘✦✌✭✠➄æ✥☎✴➔✴➔✓☛✍✌✙☛❵✑✓✎❒☎❭✔✆✔✗➑♥➒✩➅✒✌✙☛❵✑✓✎❒➊❘➳✔ç ❮✓➍❭➇✄✌✭✠➄æ❋✎✥➈❋✑✓✘
i, j > 0

➇✖✌✭✠➄æ✷è✔æ❋✎✝æ❋✘✚☎✓✤ ☛ ➛■æ✆➔➠➜❳☎✓✘✗✌✙✤ æ❋✌✙✌❭➝ ✔✛➈❋✑✓✘✗➒✛➑♥✤ ☎✰➈❋✑✓✘
☎✓➑♥✌❘✑✞➆✆✑✓✘✗✘③æ❋✤ ☎✓✌✙☛❵✑✓✎❲✔✖➊❘➳✔ç✭❰✚➍✛✠❲✑✓✤ ➔❭✔❏✂▲☛✍✌✭✠







wi,j = w∗
i,j = 0

☛ ➈
i 6= j

wi,i = 1
☎✓✎✒➔

w∗
i,i =

γ
ǫ2

(i)

γ2
ǫ
(0)

☛ ➈
i > 0.

å❵✳➄➻ ö✔ì

➸ ❺☞❼ →✾➔❭➺ ➢➥❿✍Ï ä ➺❚➝③➳➄➟✤➵✡➛➇➭❿➟✮➥s➤☛❐✫↔✍❒✺❮t❰ ➢➄➜③➥✾➵✱➟■➭③➭❿➟■➭✡➘➊ø✍➥➇➱➇➥✔➭❿ù✡➱⑤➛❴➛s➺➊➯✷ú★➥➇➞ ➫ ➝③➫➩➭✤å❖ûsü➇ü➇ö✔ìt➟■➭⑧➝➶➛s➸➄➞ ➫➩➭❿➳➄➟■➯❪➝③➳➄➟✕➞ ➫ ➧✤➠
➫ ➝③➫ ➺➄➴✴➯✾➫➩➭⑧➝③➜③➫ ➸➄➨✾➝③➫ ➥➇➺❪➥s➤

ρ̂m

➻❣➼✦➳➄➟✡➫ ➜✦➤➦➥➇➜③➧✕➨➄➞➩➛✕➤➦➥➇➜✦➝③➳➄➟✮➛➇➭❿➡❝➧❴➢✾➝③➥s➝③➫➩➵❁➽⑤➛s➜③➫➩➛s➺➊➵✱➟✫➵✱➥➇➫ ➺➊➵✱➫➩➯✾➟✫➾✧➫ ➝③➳➅å❵✳➄➻ ö✔ì①➻

ä ➝❁➭❿➳➄➥➇➨➄➞➩➯❪➸❤➟✮➺➄➥s➝③➟■➯❪➝③➳➊➛⑤➝✧➝③➳➄➟✕➛➇➯➄➯✾➫ ➝③➫ ➥➇➺➊➛s➞❡➝③➟✡➜③➧
w∗

i,i

➵✡➛s➺✷➸❤➟✕➛s➜③➸➄➫ ➝③➜➶➛s➜③➫ ➞ ➡➲➞➩➛s➜③➴➇➟➇➘➊➛➇➭✦➝③➳➄➟☎➺➄➟✱➚❝➝✍➟✱➚➄➛s➧❴➢➄➞ ➟
➭❿➳➄➥⑤➾✺➭✡➻

Ð❳Ñ → ❼❡Ò◗➪❵❺➄➢➥❿❵➀ ❒✧➥➇➧➲➛s➺➄➥➙➛s➺➊➯ ➼✦➳➄➥➇➧✕➸➊➭➮å⑧ê■ë➇ë➇ï✔ì▼➵✱➥➇➺➊➭❿➫➩➯✾➟✡➜③➟■➯❻➾t➟■➛s➱ ➾✧➳➄➫ ➝③➟q➺➄➥➇➫➩➭❿➟■➭Ù➥s➤❇➝③➳➄➟✪➤➦➥➇➜③➧
ǫt =

ηtηt−1 · · · ηt−k+1
➾✧➳➄➟✡➜③➟

(ηt) ∼ IID(0, σ2)
➘❣➾✧➫ ➝③➳

σ2 > 0
➘
Eη4

1 = µ4 < ∞ ➛s➺➊➯
k ≥ 1

➻ ä ➝❴➫➩➭✤➵✱➞ ➟■➛s➜
➝③➳➊➛⑤➝✕å❵✳➄➻ ê✛ì☛➫➩➭✺➭③➛⑤➝③➫➩➭⑧➪➊➟■➯✴➤➦➥➇➜✺➭❿➨➊➵➶➳❪➺➄➥➇➫➩➭❿➟■➭✡➻★þÙ➟☎➳➊➛✛➽➇➟

γǫ(0) = σ2k
➛s➺➊➯

γǫ2(i) =







σ4i(µ4 − σ4)k−i
➤➦➥➇➜

i = 0, . . . , k − 1

0
➤➦➥➇➜

i ≥ k

★❚➥➇➜③➟✡➥⑤➽➇➟✡➜■➘✗➫ ➝✤➵✡➛s➺❦➸❤➟❇➭❿➟✡➟✡➺Ù➝③➳➊➛⑤➝❪å❵✳➄➻ î❝ì✫➫➩➭☎➽➇➟✡➜③➫ ➪➊➟■➯❡➘✬➨➊➭❿➫ ➺➄➴✷➝③➳➄➟❇➵✱➟✡➺✔➝③➜➶➛s➞❣➞ ➫ ➧❴➫ ➝✮➝③➳➄➟✡➥➇➜③➟✡➧ ➤➦➥➇➜
m
➠✼➯✾➟✡➢❤➟✡➺➊➯✾➟✡➺✔➝

➢➄➜③➥✾➵✱➟■➭③➭❿➟■➭✤å❊➭❿➟✡➟❴➟➇➻ ➴➊➻✤➼✦➳➄➟✡➥➇➜③➟✡➧✒ï➄➻ î➊➻ û✾➘✗↕t➜③➥✾➵➶➱❝➾t➟✡➞ ➞★➛s➺➊➯▼é❁➛✛➽❝➫➩➭✡➘✟ê■ë➇ë➄ê✛ì①➻ ä ➝✫➤➦➥➇➞ ➞ ➥⑤➾✺➭✍➝③➳➊➛⑤➝✫➝③➳➄➟➲➵✱➥➇➺➊➵✱➞ ➨➊➭❿➫ ➥➇➺▼➥s➤
❮☛➥➇➜③➥➇➞ ➞➩➛s➜③➡➙✳➄➻ ê✫➳➄➥➇➞➩➯➄➭✦➾✧➫ ➝③➳

w∗
i,i =

γǫ2(i)

γ2
ǫ (0)

=
(µ4

σ4
− 1

)k−i

➾✧➳➄➟✡➺
i < k

➛s➺➊➯
w∗

i,i = 0
➾✧➳➄➟✡➺

i ≥ k.
➻ ➥s➝③➟☎➝③➳➊➛⑤➝

w∗
i,i ≥ 0

➘✝➭❿➳➄➥⑤➾✧➫ ➺➄➴➲➞➩➛s➜③➴➇➟✡➜✧➽⑤➛s➜③➫➩➛s➺➊➵✱➟■➭✦➤➦➥➇➜✧➝③➳➄➟✤➭③➛s➧❴➢➄➞ ➟
➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺➊➭☛➝③➳➊➛s➺❚➾t➥➇➨➄➞➩➯❪➸❤➟✮➟✱➚✾➢❤➟■➵①➝③➟■➯❪➤➦➜③➥➇➧ ➝③➳➄➟✮➨➊➭❿➟✮➥s➤✬➝③➳➄➟✕➭⑧➝➶➛s➺➊➯➄➛s➜➶➯✷↕✦➛s➜③➞ ➟✱➝❿➝✧➤➦➥➇➜③➧✕➨➄➞➩➛➄➻✦➼✦➳➄➟☎➺➄➟✱➚❝➝
➟✱➚➄➛s➧❴➢➄➞ ➟☎➭❿➳➄➥⑤➾✺➭t➝③➳➊➛⑤➝✦➝③➳➄➫➩➭✧➫➩➭✧➺➄➥s➝✺➛s➞ ➾✦➛✛➡✾➭☛➝③➳➄➟✮➵✡➛➇➭❿➟➇➻

Ó



Ð❳Ñ → ❼❡Ò◗➪❵❺➄➢➥❿✍❽ ❒✧➥➇➧➲➛s➺➄➥❚➛s➺➊➯➅➼✦➳➄➥➇➧✕➸➊➭➲å⑧ê■ë➇ë➇ï✔ì✫➛s➞➩➭❿➥❚➵✱➥➇➺➊➭❿➫➩➯✾➟✡➜③➟■➯▼➾t➟■➛s➱▼➾✧➳➄➫ ➝③➟✴➺➄➥➇➫➩➭❿➟■➭✫➥s➤✦➝③➳➄➟➲➤➦➥➇➜③➧
ǫt =

ηt/ηt−1
➾✧➳➄➟✡➜③➟

(ηt) ∼ IID(0, σ2)
➛s➺➊➯

Eη−4
1 < ∞ ➻ ä ➝❁➫➩➭❁➫ ➺✔➝③➟✡➜③➟■➭⑧➝③➫ ➺➄➴➲➝③➥❪➺➄➥s➝③➟✮➝③➳➊➛⑤➝❴å❵✳➄➻ ê✛ì✺➧➲➛✛➡❪➺➄➥s➝✫➳➄➥➇➞➩➯

➸❤➟■➵✡➛s➨➊➭❿➟

Eǫ2t ǫt−1ǫt−2 = E
η2

t

η2
t−1

ηt−1

ηt−2

ηt−2

ηt−3
=

{

E

(

1

η1

)}2

.

þq➳➄➟✡➺❪➝③➳➄➟✫➧➲➛s➜③➴➇➫ ➺➊➛s➞❡➯✾➫➩➭⑧➝③➜③➫ ➸➄➨✾➝③➫ ➥➇➺❪➥s➤
η1
➫➩➭✧➭❿➡❝➧❴➧❴➟✱➝③➜③➫➩➵✤å❵✳➄➻ ê✛ì☛➫➩➭✦➳➄➥⑤➾t➟✡➽➇➟✡➜✦➭③➛⑤➝③➫➩➭⑧➪➊➟■➯❡➻ ä ➺❇➝③➳➄➫➩➭✺➵✡➛➇➭❿➟❁➾t➟✫➳➊➛✛➽➇➟

γǫ2(i) =



















µ4E
(

1
η4

1

)

−
{

σ2E
(

1
η2

1

)}2 ➤➦➥➇➜
i = 0

σ2E
(

1
η2

1

)

−
{

σ2E
(

1
η2

1

)}2 ➤➦➥➇➜
i = 1

0
➤➦➥➇➜

i ≥ 2.

➻ ➥s➝③➟☎➝③➳➊➛⑤➝❴å❵✳➄➻ î❝ì✦➫➩➭✍➭③➛⑤➝③➫➩➭⑧➪➊➟■➯❡➘➄➤➦➥➇➜✺➝③➳➄➟✕➜③➟■➛➇➭❿➥➇➺➊➭✦➴➇➫ ➽➇➟✡➺✷➫ ➺❚➝③➳➄➟✕➢➄➜③➟✡➽❝➫ ➥➇➨➊➭✧➟✱➚➄➛s➧❴➢➄➞ ➟➇➘❤➛s➺➊➯❪➝③➳➊➛⑤➝✮❮☛➥➇➜③➥➇➞ ➞➩➛s➜③➡✖✳➄➻ ê
➳➄➥➇➞➩➯➄➭✦➾✧➫ ➝③➳

w∗
1,1 =

1

σ2E
(

1
η2

1

) − 1 < 0,

➸❝➡✖Ô➇➟✡➺➊➭❿➟✡➺✗➹ ➭t➫ ➺➄➟■✃✔➨➊➛s➞ ➫ ➝⑧➡➇➻ ä ➺✴➝③➳➄➫➩➭✧➵✡➛➇➭❿➟➇➘✾➛s➢➄➢➄➞ ➫➩➵✡➛⑤➝③➫ ➥➇➺❇➥s➤☞➝③➳➄➟☎➭⑧➝➶➛s➺➊➯➄➛s➜➶➯❇↕✦➛s➜❿➝③➞ ➟✱➝❿➝t➤➦➥➇➜③➧✕➨➄➞➩➛✕➾t➥➇➨➄➞➩➯✴➞ ➟■➛➇➯➲➝③➥➲➛s➺
➥⑤➽➇➟✡➜❿➠✏➟✡➽⑤➛s➞ ➨➊➛⑤➝③➫ ➥➇➺✴➥s➤☞➝③➳➄➟✮➛➇➭❿➡❝➧❴➢✾➝③➥s➝③➫➩➵❁➽⑤➛s➜③➫➩➛s➺➊➵✱➟✫➥s➤ √

nρ̂ǫ(1)
➻

➼✦➳➄➟✤➺➄➟✱➚❝➝☎➜③➟■➭❿➨➄➞ ➝✫➭❿➳➄➥⑤➾✺➭✺➝③➳➊➛⑤➝✮↕✦➛s➜❿➝③➞ ➟✱➝❿➝■➹ ➭✺➤➦➥➇➜③➧✕➨➄➞➩➛✴➫➩➭✫➛s➞➩➭❿➥❇➢➊➛s➜❿➝③➫➩➵✱➨➄➞➩➛s➜③➞ ➡❚➭❿➫ ➧❴➢➄➞ ➟✕➤➦➥➇➜❁➝③➳➄➟❴➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺➊➭
➥s➤▲★✚↔

(q)
➛⑤➝✺➞➩➛s➴✔➭

i > q
➻

➚ ❻ ➔ ❻❫➪❵➪ →✾➔❭➶ ➢➥❿✍❽➓➹✿Õ➂❻☞Ö➥➬❵➮✡× → Ö❫❺ ➔⑤→ ×❫❺ ➴ ➬ ➓ ❹➩➮✡❻❫➮➨➬❵➮✡Ø✡❺❀Ò✣❺☞➮✡Ø✡❺☞➮ ➓ ➪❵➬❵➮✡❺ →✾➔ ➬❵➮✡➮✡❻☞Ö →✾➓ ➬❵❻❫➮ ➒ ➱ ➲ ➈
Xt = ǫt +

θ1ǫt−1 + · · · + θqǫt−q

➇✏✂✡✠➄æ❋✘③æ
(ǫt)

✔❑☎✓✌✙☛✕✔✭➯tæ✗✔✄✌✭✠➄æ➄☎❭✔✆✔✗➑♥➒✩➅✒✌✙☛❵✑✓✎❲✔➄✑✿➈❡→✒✠➄æ✆✑✓✘③æ❋➒➣➳✔ç✍➌❭➇❏✌✭✠➄æ❋✎➨✌✭✠➄æ➄☎❭✔✗➉✓➒✩➅✒✌❘✑✓✌✙☛❵➆
➆✆✑✓↔✓☎✓✘✗☛❵☎✓✎✒➆➶æ✗✔

wi,j + w∗
i,j

➔➇æ❵➯✯✎✝æ✆➔➙☛✍✎➨→✒✠➄æ✆✑✓✘③æ❋➒✃➳✔ç✍➌✄☎✓✘③æ✜✔✗➑✧➆✆✠✰✌✭✠❲☎✓✌

wi,i =

q
∑

ℓ=−q

ρ2
X(ℓ)

☎✓✎✒➔
w∗

i,i =
1

γ2
ǫ (0)

q
∑

ℓ=−q

γǫ2(i − ℓ)ρ2
X(ℓ)

➈❋✑✓✘✛☎✓✤✍✤
i > q

ç

Ù Ú ⑩✄⑩✰✈✱ã✱â❶q✫Ý✬ã✱ß✮Ü Ý✬ß Ú✃Û⑧ÜÝÚ⑤Þ❍ßàÚ✃Û➏á✉â ⑥✙ß➲à✄✇⑨✈❋③

➼✦➳➄➟✤➤➦➥➇➞ ➞ ➥⑤➾✧➫ ➺➄➴❇➞ ➟✡➧❴➧➲➛❪➭❿➳➄➥⑤➾✺➭✍➝③➳➊➛⑤➝❁➝③➳➄➟➲➭❿➡❝➧❴➧❴➟✱➝③➜③➡✚➛➇➭③➭❿➨➄➧❴➢✾➝③➫ ➥➇➺✪å❵✳➄➻ ê✛ì✺➫➩➭☎➭③➛⑤➝③➫➩➭⑧➪➊➟■➯❚➤➦➥➇➜✮❐✫↔✍❒✺❮t❰ ➧❴➥✾➯✾➟✡➞➩➭
➾✧➫ ➝③➳❚➛❴➭❿➡❝➧❴➧❴➟✱➝③➜③➫➩➵✫➫ ➺➄➺➄➥⑤➽⑤➛⑤➝③➫ ➥➇➺❇➢➄➜③➥✾➵✱➟■➭③➭✡➻

ã ❺☞❼➠❼ → ➾❷❿❵➀ä➁ æ❋✌
(ǫt) ➃ æ✛☎➄å✣➎✩æ ➞➥ç (p, q)

➅✒✘✚✑✞➆➶æ✗✔✆✔❏➔➇æ❵➯✯✎✝æ✆➔ ➃ ➉






ǫt =
√

htηt

ht = ω +
∑q

i=1 αiǫ
2
t−i +

∑p

j=1 βjht−j ,

å➦î➊➻ ê✛ì

✂✡✠➄æ❋✘③æ
ω > 0

➇
αi ≥ 0 (i = 1, . . . , q)

➇
βj ≥ 0 (j = 1, . . . , p)

➇✩☎✓✎✒➔✲✂✡✠➄æ❋✘③æ
(ηt) ∼ IID(0, 1)

➇
Eη4

t < ∞ ➇
✂▲☛✍✌✭✠

ηt

☛✍✎✒➔➇æ◆➅➊æ❋✎✒➔➇æ❋✎✧✌✖✑✿➈ {ǫu, u < t} çä➎➐✔✆✔✗➑♥➒➲æ✫☎✓✤ ✔❑✑➠✌✭✠❲☎✓✌ Eǫ4t < ∞ ç ➲ ➈✰✌✭✠➄æ✥➔✓☛✕✔✗✌✙✘✗☛ ➃ ➑♥✌✙☛❵✑✓✎è✑✿➈ η1
☛✕✔

✔✗➉✓➒✛➒➲æ❋✌✙✘✗☛❵➆✏✌✭✠➄æ❋✎➷➊❘➳✔ç✍➌✆➍✟✠❲✑✓✤ ➔❭✔✏✌✙✘✗➑➊æ■ç

é



ô➄➜③➥➇➧➏ê✗➫ ➺➄➴➲➛s➺➊➯✰★✚➵✡↔✺➞ ➟✡➟✡➜✮å❖ûsü➇ü✔û➇ì①➘✔➝③➳➄➟✡➜③➟☎➟✱➚✾➫➩➭⑧➝➶➭✧➛❴➭❿➥➇➞ ➨✾➝③➫ ➥➇➺❇➝③➥❚å➦î➊➻ ê✛ì✦➭❿➨➊➵➶➳❇➝③➳➊➛⑤➝
Eǫ4t < ∞ ➫ ➤

ρ(A(2)) < 1
➘

➾✧➳➄➟✡➜③➟
ρ(A(2))

➯✾➟✡➺➄➥s➝③➟■➭✕➝③➳➄➟❚➭❿➢❤➟■➵①➝③➜➶➛s➞t➜➶➛➇➯✾➫ ➨➊➭✤➥s➤
A(2) = EAt ⊗ At

➘✟➝③➳➄➟❚➭❿➡❝➧✕➸❤➥➇➞ ⊗ ➭⑧➝➶➛s➺➊➯✾➫ ➺➄➴✚➤➦➥➇➜✤➝③➳➄➟
ø✫➜③➥➇➺➄➟■➵➶➱➇➟✡➜t➢➄➜③➥✾➯✾➨➊➵①➝■➘➄➛s➺➊➯

At =

















η2
t α′

1:q−1 η2
t αq η2

t β′
1:p−1 η2

t βp

Iq−1 0q−1 0(q−1)×(p−1) 0q−1

α′
1:q−1 αq β′

1:p−1 βp

0(p−1)×(q−1) 0p−1 Ip−1 0p−1

















,

➾✧➫ ➝③➳
α1:q−1 = (α1, . . . , αq−1)

′
,
➛s➺➊➯

β1:p−1 = (β1, . . . , βp−1)
′ ➻ ➻ ➥s➝③➟❴➝③➳➊➛⑤➝

At

➫➩➭☎➾✧➜③➫ ➝❿➝③➟✡➺Ù➤➦➥➇➜
p ≥ 2

➛s➺➊➯
q ≥ 2

➘➊➸➄➨✾➝✫➵✡➛s➺✷➸❤➟✤➭⑧➝③➜➶➛s➫ ➴➇➳✔➝❿➤➦➥➇➜③➾✦➛s➜➶➯✾➞ ➡➲➧❴➥✾➯✾➫ ➪➊➟■➯✷➾✧➳➄➟✡➺
p < 2

➥➇➜
q < 2

➻ ä ➝✍➫➩➭✺➾t➟✡➞ ➞☞➱❝➺➄➥⑤➾✧➺❪➝③➳➊➛⑤➝✺➝③➳➄➟
➭③✃✔➨➊➛s➜③➟❁➥s➤✟➛➲❐✫↔✍❒✺❮t❰➙➢➄➜③➥✾➵✱➟■➭③➭✦➛➇➯✾➧❴➫ ➝➶➭✺➛s➺✷↔✍❒✩★✚↔ ➜③➟✡➢➄➜③➟■➭❿➟✡➺✔➝➶➛⑤➝③➫ ➥➇➺✴➥s➤✬➝③➳➄➟✫➤➦➥➇➜③➧

ǫ2t −
p∧q
∑

i=1

(αi + βi)ǫ
2
t−i = ω + νt −

p
∑

i=1

βiνt−i,

➾✧➳➄➟✡➜③➟
νt = ǫ2t −ht = (η2

t −1)ht

➫➩➭☛➛☎➾t➟■➛s➱✕➾✧➳➄➫ ➝③➟✺➺➄➥➇➫➩➭❿➟➇➻★ô➄➜③➥➇➧ ➝③➳➄➫➩➭☛↔✍❒✩★✚↔Ø➟■✃✔➨➊➛⑤➝③➫ ➥➇➺✗➘s➝③➳➄➟✍➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➠
➝③➫ ➥➇➺✴➤➦➨➄➺➊➵①➝③➫ ➥➇➺

ρǫ2(·)
➵✡➛s➺❇➸❤➟✫➟■➛➇➭❿➫ ➞ ➡➲➵✱➥➇➧❴➢➄➨✾➝③➟■➯▼å❊➭❿➟✡➟➲æ■ç è✔çtÿ❝➟■➵①➝③➫ ➥➇➺✄✳➄➻ ✳✕➫ ➺❪↕t➜③➥✾➵➶➱❝➾t➟✡➞ ➞✝➛s➺➊➯❇é❁➛✛➽❝➫➩➭✡➘❤ê■ë➇ë➄ê✛ì①➻ ä ➝

➵✡➛s➺❇➸❤➟✮➭❿➳➄➥⑤➾✧➺➲➝③➳➊➛⑤➝
ρǫ2(h) ≥ 0

➤➦➥➇➜✧➛s➞ ➞
h
➻✟➼✦➳❝➨➊➭✡➘✾➫ ➺❪➽❝➫ ➟✡➾Ø➥s➤☞➝③➳➄➟❁➤➦➥➇➜③➧í➥s➤

w∗
i,j

➴➇➫ ➽➇➟✡➺❇➫ ➺✷❒✧➟✡➧➲➛s➜③➱✖✳➄➻ ê➇➘✔➝③➳➄➟
➢➄➜③➟■➭❿➟✡➺➊➵✱➟✫➥s➤❣❐✫↔✍❒✺❮t❰➙➟❋ë✝➟■➵①➝➶➭✧➧➲➛s➱➇➟■➭t➝③➳➄➟✮➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺➊➭☛➧❴➥➇➜③➟☎➯✾➫ ♠✴➵✱➨➄➞ ➝✧➝③➥➲➟■➭⑧➝③➫ ➧➲➛⑤➝③➟➇➻✯★❚➥➇➜③➟✫➢➄➜③➟■➵✱➫➩➭❿➟✡➞ ➡➇➘
➾t➟✫➳➊➛✛➽➇➟❁➝③➳➄➟✫➤➦➥➇➞ ➞ ➥⑤➾✧➫ ➺➄➴✤➜③➟■➭❿➨➄➞ ➝■➻

ì ➔ ❻✧Ò✣❻ ➒ ➬ ➓ ➬❵❻❫➮➓➾❷❿❵➀ ❐ ✎✒➔➇æ❋✘✏✌✭✠➄æ➙☎❭✔✆✔✗➑♥➒✩➅✒✌✙☛❵✑✓✎❲✔✟✑✿➈➄→✒✠➄æ✆✑✓✘③æ❋➒í➳✔ç✍➌❭➇⑨☛ ➈✏✌✭✠➄æ✛✤ ☛✍✎✝æ✆☎✓✘✛☛✍✎✧✎✒✑✓↔✓☎✓✌✙☛❵✑✓✎✄➅✒✘✚✑✞➆➶æ✗✔✆✔
(ǫt)

☛✕✔
☎➄å✣➎✩æ ➞➥ç ➅✒✘✚✑✞➆➶æ✗✔✆✔❂✔❑☎✓✌✙☛✕✔✭➈✆➉✓☛✍✎❝è✲✌✭✠➄æ✛☎❭✔✆✔✗➑♥➒✩➅✒✌✙☛❵✑✓✎❲✔❏✑✿➈ ➁ æ❋➒✛➒➙☎✏❮❤ç✍➌✖✌✭✠➄æ❋✎

w∗
i,i ≥ 0

➈❋✑✓✘✛☎✓✤✍✤
i > 0.

î ✑✓✘③æ✆✑✓↔⑤æ❋✘✆➇❶☛ ➈
α1 > 0

➇✯☛ ➈➄ï❫☎✓✘
(η2

t ) 6= 0
☎✓✎✒➔ ∑+∞

h=−∞ ρX(h) 6= 0
✂☛æ❂✠❲☎✓↔⑤æ

w∗
i,i > 0

➈❋✑✓✘✛☎✓✤✍✤
i > 0.

➼☞➥❇➵✱➥➇➧❴➢➄➨✾➝③➟☎➝③➳➄➟✮➴➇➟✡➺➄➟✡➜➶➛s➞ ➫ ù✡➟■➯❪↕✦➛s➜❿➝③➞ ➟✱➝❿➝■➹ ➭✦➤➦➥➇➜③➧✕➨➄➞➩➛➄➘➊➾t➟✮➛s➞➩➭❿➥➲➺➄➟✡➟■➯
κ − 1 = γǫ2(0)/γ2

ǫ (0)
➘➊➾✧➳➄➟✡➜③➟

γǫ(0) =

ω
{

1 − ∑p∧q

i=1 (αi + βi)
}−1 ➛s➺➊➯

γǫ2(0) = Eǫ4t − γ2
ǫ (0)

➻ ä ➝✍➵✡➛s➺✷➸❤➟✮➭❿➳➄➥⑤➾✧➺✴➝③➳➊➛⑤➝

Eǫ4t = e1

(

I(p+q)2 − A(2)
)−1 {

b(2) + γǫ(0) (EAt ⊗ bt + Ebt ⊗ At)1p+q

}

➾✧➳➄➟✡➜③➟
e1 = (1, 0′p+q−1)

′, bt = (ωηt, 0
′
q−1, ω, 0′p−1)

′
➘
b(2) = Ebt ⊗ bt

➛s➺➊➯
1p+q = (1, . . . , 1)′ ∈ R

p+q.
ä ➝✧➫➩➭t➝③➳➄➟✡➺❪➟■➛➇➭❿➡✤➝③➥➲➵✱➥➇➧❴➢➄➨✾➝③➟✫↕✦➛s➜❿➝③➞ ➟✱➝❿➝■➹ ➭✦➵✱➥❝➟❋♠✴➵✱➫ ➟✡➺✔➝➶➭

vi,j + v∗i,j
➛s➺➊➯

wi,j + w∗
i,j

➻❣↔✺➺✷➛s➢➄➢➄➜③➥✛➚✾➫ ➧➲➛⑤➝③➟✍➥s➤
➝③➳➄➟✧➭⑧➝➶➛s➺➊➯➄➛s➜➶➯✮➯✾➟✡➽❝➫➩➛⑤➝③➫ ➥➇➺✮➥s➤

ρ̂X(i)
➫➩➭☞➝③➳➄➟✡➺✤➴➇➫ ➽➇➟✡➺✮➸❝➡

σρ̂X (i) =
√

(wi,i + w∗
i,i)/n

➻✡ð✍➭❿➫ ➺➄➴✍➝③➳➄➟✧➯✾➟✡➞ ➝➶➛✍➧❴➟✱➝③➳➄➥✾➯
å❊➭❿➟✡➟✤æ■ç è✔ç✟ú❣➜③➥➇➢❤➥✔➭❿➫ ➝③➫ ➥➇➺➲ï➄➻ î➊➻ ✳❁➫ ➺✴↕t➜③➥✾➵➶➱❝➾t➟✡➞ ➞➄➛s➺➊➯➲é❁➛✛➽❝➫➩➭✡➘➊ê■ë➇ë➄ê✛ì①➘s➥➇➺➄➟✺➵✡➛s➺➲➛s➞➩➭❿➥☎➥➇➸✾➝➶➛s➫ ➺➲➛➇➭❿➡❝➧❴➢✾➝③➥s➝③➫➩➵✺➭⑧➝➶➛s➺➊➯➄➛s➜➶➯
➯✾➟✡➽❝➫➩➛⑤➝③➫ ➥➇➺➊➭❁➤➦➥➇➜☎➝③➳➄➟❇➭③➛s➧❴➢➄➞ ➟❴➢➊➛s➜❿➝③➫➩➛s➞☛➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺➊➭

r̂X(i)
➘☞➥➇➜☎➤➦➥➇➜✮➛s➺❝➡▼➥s➝③➳➄➟✡➜✮➭⑧➝➶➛⑤➝③➫➩➭⑧➝③➫➩➵➲➯✾➟✡➢❤➟✡➺➊➯✾➫ ➺➄➴✚➥➇➺

➛✴➪➊➺➄➫ ➝③➟❴➺❝➨➄➧✕➸❤➟✡➜❁➥s➤✦➭③➛s➧❴➢➄➞ ➟✤➛s➨✾➝③➥✾➵✱➥⑤➽⑤➛s➜③➫➩➛s➺➊➵✱➟■➭✗ñ⑤➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺➊➭✡➻✍ÿ✔➝➶➛⑤➝③➫➩➭⑧➝③➫➩➵✡➛s➞★➫➩➭③➭❿➨➄➟■➭❁➛s➜③➟✕➺➄➥s➝✮➵✱➥➇➺➊➭❿➫➩➯✾➟✡➜③➟■➯

ò



➫ ➺➅➝③➳➄➟❪➢➄➜③➟■➭❿➟✡➺✔➝✕➢➊➛s➢❤➟✡➜■➘★➸➄➨✾➝❴➫ ➝✤➫➩➭✤➵✱➞ ➟■➛s➜✮➝③➳➊➛⑤➝
σρ̂X (i)

➛s➺➊➯➷➛s➞ ➞☛➝③➳➄➟❇➥s➝③➳➄➟✡➜✮➝③➳➄➟✡➥➇➜③➟✱➝③➫➩➵✡➛s➞☛➧❴➥➇➧❴➟✡➺✔➝➶➭✕➧✕➨➊➭⑧➝✤➸❤➟
➜③➟✡➢➄➞➩➛➇➵✱➟■➯❇➸❝➡✴➟■➭⑧➝③➫ ➧➲➛⑤➝③➟■➭✦➫ ➺❚➭⑧➝➶➛⑤➝③➫➩➭⑧➝③➫➩➵✡➛s➞✗➛s➢➄➢➄➞ ➫➩➵✡➛⑤➝③➫ ➥➇➺➊➭✡➻

↔✍➭✺➛s➺❪➫ ➞ ➞ ➨➊➭⑧➝③➜➶➛⑤➝③➫ ➥➇➺✗➘➄➵✱➥➇➺➊➭❿➫➩➯✾➟✡➜✦➝③➳➄➟✫➤➦➥➇➞ ➞ ➥⑤➾✧➫ ➺➄➴❴↔✍❒✩★✚↔✕å❖û✾➘ ê✛ì✏➠⑧❐✫↔✍❒✺❮t❰✕å⑧ê➇➘ ê✛ìt➧❴➥✾➯✾➟✡➞


















Xt − 0.8Xt−1 + 0.8Xt−2 = ǫt − 0.8ǫt−1

ǫt = σtηt, ηt

➫ ➫➩➯ N (0, 1)

σ2
t = 1 + 0.2ǫ2t−1 + 0.6σ2

t−1.

å➦î➊➻ û➇ì

ô✬➫ ➴➇➨➄➜③➟✮ê✍➯✾➫➩➭❿➢➄➞➩➛✛➡✾➭✟➝③➳➄➟❁➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺❴➛s➺➊➯➲➢➊➛s➜❿➝③➫➩➛s➞➊➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺✤➤➦➨➄➺➊➵①➝③➫ ➥➇➺➊➭✡➘❝➛➇➭❣➾t➟✡➞ ➞✝➛➇➭❣➸➊➛s➺➊➯➄➭❣➫ ➺➲➤➦➨➄➞ ➞
➞ ➫ ➺➄➟■➭✡➘✔➫ ➺✴➾✧➳➄➫➩➵➶➳➲➝③➳➄➟❁➭③➛s➧❴➢➄➞ ➟✍➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺➊➭✟➛s➺➊➯✴➭③➛s➧❴➢➄➞ ➟✺➢➊➛s➜❿➝③➫➩➛s➞❤➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺➊➭✟➭❿➳➄➥➇➨➄➞➩➯❴➸❤➟✍➫ ➺➊➵✱➞ ➨➊➯✾➟■➯
➾✧➫ ➝③➳❦➛❇➢➄➜③➥➇➸➊➛s➸➄➫ ➞ ➫ ➝⑧➡✚➛s➢➄➢➄➜③➥✛➚✾➫ ➧➲➛⑤➝③➟✡➞ ➡✷➟■✃✔➨➊➛s➞✬➝③➥✷ë❀�❀ó✴➘❡➾✧➳➄➟✡➺

n = 1, 000
➻✮➼✦➳➄➟❴➸➊➛s➺➊➯➄➭❁➫ ➺❦➯✾➥s➝❿➝③➟■➯▼➞ ➫ ➺➄➟■➭☎➛s➜③➟

➥➇➸✾➝➶➛s➫ ➺➄➟■➯➲➸❝➡✤➝③➳➄➟✫➭⑧➝➶➛s➺➊➯➄➛s➜➶➯➲↕✦➛s➜❿➝③➞ ➟✱➝❿➝☛➤➦➥➇➜③➧✕➨➄➞➩➛➄➻ ä ➝✦➫➩➭t➭❿➟✡➟✡➺➲➝③➳➊➛⑤➝☛➝③➳➄➟❁➽⑤➛s➜③➫➩➛s➸➄➫ ➞ ➫ ➝⑧➡✤➥s➤❡➝③➳➄➟✫➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺➊➭✟➫➩➭
➭⑧➝③➜③➥➇➺➄➴➇➞ ➡➲➨➄➺➊➯✾➟✡➜③➟■➭⑧➝③➫ ➧➲➛⑤➝③➟■➯❪➾✧➳➄➟✡➺❇➝③➳➄➫➩➭✦➤➦➥➇➜③➧✕➨➄➞➩➛✤➫➩➭✦➨➊➭❿➟■➯❡➻

i i
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ô❶õ✍ö♥÷❍ø❋ù ð♥úàû❂ü ù✟ý✭ù✞þ◆ÿ✁�✄✂✆☎➥ù❭ý✞✝✒õ✠✟✡�❍ý☛✂✌☞✍✟✜ÿ ü ù✎✂❀÷❍ÿ✑✏✓✒✌✏☞ø✗ø❋ù❭ý☛✂❀ÿ✗õ✠✏✔☎✕✟
ρX(i)

✏❀þ✗✖✘✏✓✝❍ù❭ý✚✙✙➵✕✛ ❧✢✜ ✂✆☎✕✝✥ÿ ü ù✤✣✄✂✆☎✕✝

ρX(i) ± 1.96σρ̂X (i)
õ✥☎➨þ◆÷❍ý✍ý✩ý✍õ✥☎➥ù✌✟✧✦✯þ★✏☞ø

n = 1, 000
✛ û❂ü ù➄ø✗õ✍ö ü ÿ✩�✄✂✆☎➥ù❭ý❳õ✠✟✎✟✗õ✥✪➄õ✍ý☛✂❀ø➙þ★✏☞ø✖ÿ ü ù✫�✄✂❀ø✗ÿ✗õ☛✂❀ý

✂❀÷❍ÿ✑✏✓✒✌✏☞ø✗ø❋ù❭ý☛✂❀ÿ✗õ✠✏✔☎✕✟
rX(i)

✛ û❂ü ù✬✣✄✂✆☎✕✝✭✟➙õ✥☎✮✝✭✏☞ÿ✗ÿ❋ù✌✝➩ý✍õ✥☎➥ù✌✟✩✂❀ø❋ù✫✏✔✣❍ÿ✯✂❀õ✥☎➥ù✌✝✰✣✱☞➓ÿ ü ù✫✟✗ÿ✯✂✆☎✕✝✕✂❀ø✑✝✰✲✁✂❀ø✗ÿ✗ý✭ù❭ÿ✗ÿ
þ★✏☞ø✡✪✲÷❍ý☛✂✍✛

✳ ✴➙Þ★ß➲ß✏④✓③

ì ➔ ❻➥❻✓✵✩❻✓✵⑨❸✏❹✡❺☞❻ ➔ ❺☞❼❾➢➥❿❵➀❫❿ ð✍➭❿➫ ➺➄➴❚å❵✳➄➻ ê✛ì✦➛s➺➊➯❪➭❿➟✱➝❿➝③➫ ➺➄➴
φℓ1,ℓ2,ℓ3,ℓ4 ✶ φℓ1φℓ2φℓ3φℓ4

➘➄➾t➟✫➥➇➸✾➝➶➛s➫ ➺

EXtXt+iXt+hXt+j+h =
∑

ℓ1,ℓ2,ℓ3,ℓ4

φℓ1,ℓ2,ℓ3,ℓ4Eǫt−ℓ1ǫt+i−ℓ2ǫt+h−ℓ3ǫt+j+h−ℓ4

=
∑

ℓ1,ℓ3

φℓ1,ℓ1+i,ℓ3,ℓ3+jEǫ2t−ℓ1
ǫ2t+h−ℓ3

+
∑

ℓ1,ℓ2

φℓ1,ℓ1+h,ℓ2,ℓ2+h+j−iEǫ2t−ℓ1
ǫ2t+i−ℓ2

+
∑

ℓ1,ℓ2

φℓ1,ℓ1+h+j,ℓ2,ℓ2+h−iEǫ2t−ℓ1
ǫ2t+i−ℓ2

− 2Eǫ4t
∑

ℓ1

φℓ1,ℓ1+i,ℓ1+h,ℓ1+h+j .
å✙�✾➻ ê✛ì

➼✦➳➄➟ ➞➩➛➇➭⑧➝❛➟■✃✔➨➊➛s➞ ➫ ➝⑧➡ ➫➩➭ò➥➇➸✾➝➶➛s➫ ➺➄➟■➯ ➸❝➡ ➭❿➨➄➧❴➧❴➫ ➺➄➴ ➥⑤➽➇➟✡➜
ℓ1, ℓ2, ℓ3, ℓ4

➭❿➨➊➵➶➳ ➝③➳➊➛⑤➝ò➝③➳➄➟ ➫ ➺➊➯✾➫➩➵✱➟■➭ò➥s➤

{ǫt−ℓ1 , ǫt+i−ℓ2 , ǫt+h−ℓ3 , ǫt+j+h−ℓ4}
➛s➜③➟t➟■✃✔➨➊➛s➞❝➝⑧➾t➥s➠✏➸❝➡✔➠❖➝⑧➾t➥➊➘✛➾✧➳➄➫➩➵➶➳➲➵✱➥➇➜③➜③➟■➭❿➢❤➥➇➺➊➯➄➭✗➝③➥✫➝③➳➄➟✦➪➊➜➶➭⑧➝★➝③➳➄➜③➟✡➟✺➭❿➨➄➧➲➭✡➘

✷



➛s➺➊➯❇➝③➳➄➟✡➺✷➜③➟✡➧❴➥⑤➽❝➫ ➺➄➴✮➝⑧➾t➥✤➝③➫ ➧❴➟■➭✦➝③➳➄➟✮➭❿➨➄➧ ➫ ➺✷➾✧➳➄➫➩➵➶➳❇➝③➳➄➟✫➤➦➥➇➨➄➜✧➫ ➺➊➯✾➫➩➵✱➟■➭✺➛s➜③➟❁➟■✃✔➨➊➛s➞❖➻★þÙ➟☎➳➊➛✛➽➇➟☎➛s➞➩➭❿➥

γX(i) =
∑

ℓ1,ℓ2

φℓ1φℓ2Eǫt−ℓ1ǫt+i−ℓ2 = γǫ(0)
∑

ℓ1

φℓ1φℓ1+i.
å✙�✾➻ û➇ì

↕t➡❇➭⑧➝➶➛⑤➝③➫ ➥➇➺➊➛s➜③➫ ➝⑧➡➇➘

lim
n→∞

n
❮☛➥⑤➽ {γ̂X(i), γ̂X(j)} =

∞
∑

h=−∞

❮☛➥⑤➽ {XtXt+i, Xt+hXt+j+h} .

ä ➺✕➽❝➫ ➟✡➾➷➥s➤☞å✙�✾➻ ê✛ì☞➛s➺➊➯✴å✙�✾➻ û➇ì①➘✛➝③➳➄➟t➟✱➚✾➫➩➭⑧➝③➟✡➺➊➵✱➟t➥s➤✾➝③➳➄➟✦➞➩➛➇➭⑧➝★➭❿➨➄➧ ➫➩➭✬➴➇➨➊➛s➜➶➛s➺✔➝③➟✡➟■➯❁➸❝➡✫➝③➳➄➟✦➵✱➥➇➺➊➯✾➫ ➝③➫ ➥➇➺➊➭ ∑ |φℓ1 | < ∞
➛s➺➊➯ ∑ |ρǫ2(h)| < ∞ ➘➊➛s➺➊➯✴➝③➳➄➫➩➭✺➭❿➨➄➧ ➫➩➭✦➟■✃✔➨➊➛s➞❡➝③➥

∑

ℓ1,ℓ3

φℓ1,ℓ1+i,ℓ3,ℓ3+j

∑

h

{

Eǫ2t−ℓ1
ǫ2t+h−ℓ3

− γ2
ǫ (0)

}

+
∑

h,ℓ1,ℓ2

φℓ1,ℓ1+h,ℓ2,ℓ2+h+j−iEǫ2t−ℓ1
ǫ2t+i−ℓ2

+
∑

h,ℓ1,ℓ2

φℓ1,ℓ1+h+j,ℓ2,ℓ2+h−iEǫ2t−ℓ1
ǫ2t+i−ℓ2

− 2Eǫ4t
∑

h,ℓ1

φℓ1,ℓ1+i,ℓ1+h,ℓ1+h+j

= γǫ2(0)ρǫ2

∑

ℓ1

φℓ1φℓ1+i

∑

ℓ3

φℓ3φℓ3+j +
∑

ℓ1,ℓ2

φℓ1φℓ2Eǫ2t−ℓ1
ǫ2t+i−ℓ2

∑

h

φℓ1+hφℓ2+h+j−i

+
∑

ℓ1,ℓ2

φℓ1φℓ2Eǫ2t−ℓ1
ǫ2t+i−ℓ2

∑

h

φℓ1+h+jφℓ2+h−i − 2Eǫ4t
∑

ℓ1

φℓ1φℓ1+i

∑

h

φℓ1+hφℓ1+h+j ,

➨➊➭❿➫ ➺➄➴✕ô➄➨➄➸➄➫ ➺➄➫❖➹ ➭✟➝③➳➄➟✡➥➇➜③➟✡➧❻➤➦➥➇➜❣➝③➳➄➟✺➢❤➟✡➜③➧✕➨✾➝➶➛⑤➝③➫ ➥➇➺➲➥s➤❡➭❿➨➄➧❴➧➲➛⑤➝③➫ ➥➇➺✴➭❿➡❝➧✕➸❤➥➇➞➩➭✡➻◗ð✍➭❿➫ ➺➄➴✕➛s➴✔➛s➫ ➺✷å✙�✾➻ û➇ì✟➛s➺➊➯
γǫ2(0) =

(κ − 1)γ2
ǫ (0)

➾t➟✫➥➇➸✾➝➶➛s➫ ➺

lim
n→∞

n
❮☛➥⑤➽ {γ̂X(i), γ̂X(j)}

= γǫ2(0)ρǫ2γ
−2
ǫ (0)γX(i)γX(j) +

∑

ℓ1,ℓ2

φℓ1φℓ2Eǫ2t−ℓ1
ǫ2t+i−ℓ2

γ−1
ǫ (0)γX(ℓ2 + j − i − ℓ1)

+
∑

ℓ1,ℓ2

φℓ1φℓ2Eǫ2t−ℓ1
ǫ2t+i−ℓ2

γ−1
ǫ (0)γX(ℓ2 − j − i − ℓ1) − 2Eǫ4tγ

−2
ǫ (0)γX(i)γX(j)

= {(κ − 1)ρǫ2 − 2κ} γX(i)γX(j)

+γ−1
ǫ (0)

∑

ℓ1,ℓ2

φℓ1φℓ2 {γX(ℓ2 + j − i − ℓ1) + γX(ℓ2 − j − i − ℓ1)}
{

γǫ2(i − ℓ2 + ℓ1) + γ2
ǫ (0)

}

.

ÿ❝➟✱➝❿➝③➫ ➺➄➴
ℓ = ℓ2 − ℓ1

➘➄➾t➟❁➪➊➺➊➛s➞ ➞ ➡❇➥➇➸✾➝➶➛s➫ ➺

lim
n→∞

n
❮☛➥⑤➽ {γ̂X(i), γ̂X(j)} = {(κ − 1)ρǫ2 − 2κ} γX(i)γX(j)

+γ−2
ǫ (0)

∞
∑

ℓ=−∞

γX(ℓ) {γX(ℓ + j − i) + γX(ℓ − j − i)}
{

γǫ2(i − ℓ) + γ2
ǫ (0)

}

= (ρǫ2 − 3)(κ − 1)γX(i)γX(j) + (κ − 3)γX(i)γX(j)

+
∞
∑

ℓ=−∞

γX(ℓ) {γX(ℓ + j − i) + γX(ℓ − j − i)}

+(κ − 1)

∞
∑

ℓ=−∞

γX(ℓ) {γX(ℓ + j − i) + γX(ℓ − j − i)} ρǫ2(i − ℓ).

ÿ❝➟✱➝❿➝③➫ ➺➄➴
h = i− ℓ

➛s➺➊➯❴➨➊➭❿➫ ➺➄➴☎➝③➳➄➟✍➢➊➛s➜③➫ ➝⑧➡✕➥s➤❡➝③➳➄➟✍➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺✕➤➦➨➄➺➊➵①➝③➫ ➥➇➺➊➭✡➘✔➝③➳➄➟✺➞➩➛➇➭⑧➝t➭❿➨➄➧í➵✡➛s➺➲➸❤➟✺➾✧➜③➫ ➝❿➝③➟✡➺
➛➇➭

∞
∑

h=−∞

γX(−h + i) {γX(−h + j) + γX(−h − j)} ρǫ2(h),

ð✧✸



➾✧➳➄➫➩➵➶➳✷➴➇➫ ➽➇➟■➭✫å❵✳➄➻ û➇ì①➻
➼✦➳➄➟✍➽➇➟■➵①➝③➥➇➜

(ρ̂X(i), ρ̂X(j))
➫➩➭t➛✫➤➦➨➄➺➊➵①➝③➫ ➥➇➺✴➥s➤

(γ̂X(0), γ̂X(i), γ̂X(j))
➻✟➼✦➳➄➟➐Ô✔➛➇➵✱➥➇➸➄➫➩➛s➺❴➥s➤✝➝③➳➄➫➩➭❣➝③➜➶➛s➺➊➭⑧➤➦➥➇➜❿➠

➧➲➛⑤➝③➫ ➥➇➺❪➫➩➭

J =





− γX(i)
γ2

X
(0)

1
γX (0) 0

− γX(j)
γ2

X
(0)

0 1
γX(0)



 .

ê✗➟✱➝
Σ
➸❤➟✫➝③➳➄➟☎➽⑤➛s➜③➫➩➛s➺➊➵✱➟✫➧➲➛⑤➝③➜③➫ ➚❇➥s➤

(γ̂X(0), γ̂X(i), γ̂X(j))
➻❣↕t➡➲➝③➳➄➟✮➯✾➟✡➞ ➝➶➛✤➧❴➟✱➝③➳➄➥✾➯❡➘➄➾t➟☎➥➇➸✾➝➶➛s➫ ➺

lim
n→∞

n
❮☛➥⑤➽ {ρ̂(i), ρ̂(j)} = JΣJ ′(1, 2)

=
γX(i)γX(j)

γ4
X(0)

Σ(1, 1) − γX(i)

γ3
X(0)

Σ(1, 3) − γX(j)

γ3
X(0)

Σ(2, 1) +
1

γ2
X(0)

Σ(2, 3).

ð✍➭❿➫ ➺➄➴❚å❵✳➄➻ û➇ì☛➝③➥➲➯✾➟✱➝③➟✡➜③➧❴➫ ➺➄➟✫➝③➳➄➟☎➟✡➞ ➟✡➧❴➟✡➺✔➝➶➭✦➥s➤
Σ
➘❝➝③➳➄➫➩➭✺➛➇➭❿➡❝➧❴➢✾➝③➥s➝③➫➩➵✫➵✱➥⑤➽⑤➛s➜③➫➩➛s➺➊➵✱➟❁➫➩➭

{(κ − 1)ρǫ2 − 2κ}
{

γX(i)γX(j)

γ4
X(0)

γ2
X(0) − γX(i)

γ3
X(0)

γX(0)γX(j)

−γX(j)

γ3
X(0)

γX(i)γX(0) +
1

γ2
X(0)

γX(i)γX(j)

}

+γ−2
ǫ (0)

∞
∑

ℓ=−∞

[

γX(i)γX(j)

γ4
X(0)

2γ2
X(ℓ)

{

γǫ2(−ℓ) + γ2
ǫ (0)

}

− γX(i)

γ3
X(0)

γX(ℓ) {γX(ℓ + j) + γX(ℓ − j)}
{

γǫ2(−ℓ) + γ2
ǫ (0)

}

−γX(j)

γ3
X(0)

γX(ℓ) {γX(ℓ − i) + γX(ℓ − i)}
{

γǫ2(i − ℓ) + γ2
ǫ (0)

}

+
1

γ2
X(0)

γX(ℓ) {γX(ℓ + j − i) + γX(ℓ − j − i)}
{

γǫ2(i − ℓ) + γ2
ǫ (0)

}

]

.

↔✍➭✦➤➦➨➄➺➊➵①➝③➫ ➥➇➺✷➥s➤☞➝③➳➄➟✮➛s➨✾➝③➥✾➵✱➥➇➜③➜③➟✡➞➩➛⑤➝③➫ ➥➇➺➊➭✡➘➇➝③➳➄➟☎➢➄➜③➟✡➽❝➫ ➥➇➨➊➭✧✃✔➨➊➛s➺✔➝③➫ ➝⑧➡✴➫➩➭✦➾✧➜③➫ ➝❿➝③➟✡➺❚➛➇➭
∞
∑

ℓ=−∞

[

2ρX(i)ρX(j)ρ2
X(ℓ) − ρX(i)ρX(ℓ) {ρX(ℓ + j) + ρX(ℓ − j)}

−ρX(j)ρX(ℓ) {ρX(ℓ − i) + ρX(ℓ − i)} + ρX(ℓ) {ρX(ℓ + j − i) + ρX(ℓ − j − i)}]

+(κ − 1)
∞
∑

ℓ=−∞

ρǫ2(ℓ)
[

2ρX(i)ρX(j)ρ2
X(ℓ) − ρX(i)ρX(ℓ) {ρX(ℓ + j) + ρX(ℓ − j)}

−ρX(j)ρX(ℓ − i) {ρX(ℓ) + ρX(ℓ)} +ρX(i − ℓ) {ρX(−ℓ + j) + ρX(−ℓ − j)}] .

➻ ➥s➝③➫ ➺➄➴✤➝③➳➊➛⑤➝
∑

ℓ

ρX(ℓ)ρX(ℓ + j) =
∑

ℓ

ρX(ℓ)ρX(ℓ − j),

➾t➟✫➥➇➸✾➝➶➛s➫ ➺✗➘➄➾✧➫ ➝③➳
wi,j

➴➇➫ ➽➇➟✡➺❪➸❝➡▼å❖û✾➻ û➇ìt➛s➺➊➯
w∗

i,j

➴➇➫ ➽➇➟✡➺❪➸❝➡▼å❵✳➄➻ õsì①➘

lim
n→∞

n
❮☛➥⑤➽ {ρ̂(i), ρ̂(j)} = wi,j + w∗

i,j .

✷

ð✾ð



ì ➔ ❻➥❻✓✵✩❻✓✵ ➚ ❻ ➔ ❻❫➪❵➪ →✾➔❭➶ ➢➥❿❵➀❫❿ þq➳➄➟✡➺
X = (ǫt)

➘

vi,j = (κ − 3)γǫ(i)γǫ(j) + γǫ(0) {γǫ(j − i) + γǫ(−j − i)}

=



















0
➫ ➤

i 6= j

γ2
ǫ (0)

➫ ➤
i = j > 0

(κ − 1)γ2
ǫ (0)

➫ ➤
i = j = 0,

wi,j = −2ρǫ(j)ρǫ(i) + ρǫ(j − i) + ρǫ(−j − i)

=







0
➫ ➤

i 6= j

1
➫ ➤

i = j > 0,

v∗i,j = (ρǫ2 − 3)(κ − 1)γǫ(i)γǫ(j) + (κ − 1)γǫ(0) {γǫ(i − j) + γǫ(i + j)} ρǫ2(i)

=



















0
➫ ➤

i 6= j

(κ − 1)γ2
ǫ (0)ρǫ2(i)

➫ ➤
i = j > 0

(ρǫ2 − 1)(κ − 1)γ2
ǫ (0)

➫ ➤
i = j = 0,

w∗
i,j = (κ − 1) [−2ρǫ(i)ρǫ(j) + ρǫ2(i) {ρǫ(i + j) + ρǫ(i − j)}]

=







0
➫ ➤

i 6= j

(κ − 1)ρǫ2(i)
➫ ➤

i = j > 0.

➼✦➳➄➟✮➵✱➥➇➺➊➵✱➞ ➨➊➭❿➫ ➥➇➺✴➝③➳➄➟✡➺❪➤➦➥➇➞ ➞ ➥⑤➾✺➭t➤➦➜③➥➇➧
(κ − 1) = γǫ2(0)/γ2

ǫ (0)
➻

✷

ì ➔ ❻➥❻✓✵✩❻✓✵ ➚ ❻ ➔ ❻❫➪❵➪ →✾➔❭➶ ➢➥❿✍❽❍❿ ↕t➟■➵✡➛s➨➊➭❿➟
ρX(ℓ) = 0

➤➦➥➇➜ |ℓ| > q
➘➄➾t➟✫➳➊➛✛➽➇➟

wi,j =

q
∑

ℓ=−q

ρX(ℓ) [2ρX(i)ρX(j)ρX(ℓ) − 2ρX(i)ρX(ℓ + j)

−2ρX(j)ρX(ℓ + i) + ρX(ℓ + j − i) + ρX(ℓ − j − i)]

➛s➺➊➯❇➤➦➥➇➜
i, j > q

wi,j =

q
∑

ℓ=−q

ρX(ℓ)ρX(ℓ + j − i).

➼✦➳➄➟☎➟✱➚✾➢➄➜③➟■➭③➭❿➫ ➥➇➺❇➥s➤
wi,i

➤➦➥➇➞ ➞ ➥⑤➾✺➭✡➻❣ÿ❝➫ ➧❴➫ ➞➩➛s➜③➞ ➡➇➘❝➤➦➥➇➜
i > q

w∗
i,i = (κ − 1)

∞
∑

ℓ=−∞

ρǫ2(ℓ)ρX(ℓ + i) {ρX(ℓ + i) + ρX(ℓ − i)}

= (κ − 1)

q
∑

ℓ=−q

ρǫ2(i − ℓ)ρ2
X(ℓ).

✷

ì ➔ ❻➥❻✓✵⑨❻✓✵ ã ❺☞❼➠❼ → ➾❷❿❵➀❫❿ ä ➝✧➫➩➭✧➭❿➳➄➥⑤➾✧➺❇➫ ➺✷ô➄➜➶➛s➺➊➵✡✃➲➛s➺➊➯✫✹✝➛s➱➇➥✻✺✏➛s➺▼å❖ûsü➇üsî❝ì★➝③➳➊➛⑤➝■➘➄➫ ➤☞➝③➳➄➟☎➯✾➫➩➭⑧➝③➜③➫ ➸➄➨✾➝③➫ ➥➇➺❪➥s➤
ηt

➫➩➭
➭❿➡❝➧❴➧❴➟✱➝③➜③➫➩➵✍➝③➳➄➟✡➺

∀j, E
{

g(ǫ2t , ǫ
2
t−1, . . . )ǫt−jf(ǫt−j−1, ǫt−j−2, . . . )

}

= 0,
å✙�✾➻ ✳✔ì

ð✹❧



➤➦➥➇➜✫➛s➺❝➡❇➤➦➨➄➺➊➵①➝③➫ ➥➇➺➊➭
f
➛s➺➊➯

g
➭❿➨➊➵➶➳✷➝③➳➊➛⑤➝❁➝③➳➄➟✕➟✱➚✾➢❤➟■➵①➝➶➛⑤➝③➫ ➥➇➺✚➟✱➚✾➫➩➭⑧➝➶➭✡➻➐ê✗➟✱➝✍➤➦➥➇➨➄➜✍➫ ➺➊➯✾➫➩➵✱➟■➭

ti
➘
i = 1, . . . , 4

➘✝➭❿➨➊➵➶➳
➝③➳➊➛⑤➝

t1 ≤ t2 ≤ t3 ≤ t4
➻✤þÙ➟❴➾✧➫ ➞ ➞☛➭❿➳➄➥⑤➾ ➝③➳➊➛⑤➝

Eǫt1ǫt2ǫt3ǫt4 = 0
➾✧➳➄➟✡➺Ù➥➇➺➄➟❴➥s➤☛➝③➳➄➟❴➫ ➺➊➯✾➫➩➵✱➟■➭✫➫➩➭☎➯✾➫ ë✝➟✡➜③➟✡➺✔➝

➤➦➜③➥➇➧í➝③➳➄➟✫➝③➳➄➜③➟✡➟☎➥s➝③➳➄➟✡➜➶➭✡➻
ä ➤

t3 < t4
➘✾➝③➳➄➟✡➺

Eǫt1ǫt2ǫt3ǫt4 = E [E (ǫt1ǫt2ǫt3ǫt4 | {ǫu, u < t4})] = E [ǫt1ǫt2ǫt3ht4E (ηt4 | {ǫu, u < t4})] = 0,

➸❤➟■➵✡➛s➨➊➭❿➟
ht4

➫➩➭✧➧❴➟■➛➇➭❿➨➄➜➶➛s➸➄➞ ➟✫➾✧➫ ➝③➳✷➜③➟■➭❿➢❤➟■➵①➝✧➝③➥❴➝③➳➄➟
σ
➠❖➪➊➟✡➞➩➯❪➴➇➟✡➺➄➟✡➜➶➛⑤➝③➟■➯❇➸❝➡ {ǫu, u < t4}

➛s➺➊➯❪➸❤➟■➵✡➛s➨➊➭❿➟
ηt4

➫➩➭
➵✱➟✡➺✔➝③➟✡➜③➟■➯✷➛s➺➊➯✷➫ ➺➊➯✾➟✡➢❤➟✡➺➊➯✾➟✡➺✔➝❁➥s➤ {ǫu, u < t4}

➻✦➼✦➳➄➟✮➜③➟■➭❿➨➄➞ ➝✍➵✡➛s➺✚➛s➞➩➭❿➥❴➸❤➟✕➥➇➸✾➝➶➛s➫ ➺➄➟■➯❇➤➦➜③➥➇➧ å✙�✾➻ ✳✔ìt➾✧➫ ➝③➳
g = 1

➘

t − j = t4
➛s➺➊➯

f(ǫt4−1, ǫt4−2, . . . ) = ǫt1ǫt2ǫt3

➻
↔✍➭③➭❿➨➄➧❴➟✫➝③➳➄➟✡➜③➟✱➤➦➥➇➜③➟✍➝③➳➊➛⑤➝

t1 < t2 ≤ t3 = t4
➻❣↔✺➢➄➢➄➞ ➡❝➫ ➺➄➴✚å✙�✾➻ ✳✔ì☛➾✧➫ ➝③➳

g(x) = f(x) = x
➘➄➾t➟✫➳➊➛✛➽➇➟

Eǫt1ǫt2ǫt3ǫt4 = E
{

g(ǫ2t3)ǫt2f(ǫt1)
}

= 0

➛s➺➊➯❇➝③➳➄➟☎➵✱➥➇➺➊➵✱➞ ➨➊➭❿➫ ➥➇➺❇➤➦➥➇➞ ➞ ➥⑤➾✺➭✡➻

✷

ì ➔ ❻➥❻✓✵✩❻✓✵ ì ➔ ❻✧Ò✣❻ ➒ ➬ ➓ ➬❵❻❫➮➩➾❷❿❵➀❫❿ ↕t➟■➵✡➛s➨➊➭❿➟

w∗
i,i = (κ − 1)

∞
∑

ℓ=1

ρǫ2(ℓ)w
2
i (ℓ),

➝③➳➄➟✚➪➊➜➶➭⑧➝❇➜③➟■➭❿➨➄➞ ➝➲➤➦➥➇➞ ➞ ➥⑤➾✺➭➲➤➦➜③➥➇➧ ê✗➟✡➧❴➧➲➛➷�✾➻ ê✚➸❤➟✡➞ ➥⑤➾☎➻ ➼☞➥➷➢➄➜③➥⑤➽➇➟❪➝③➳➄➟Ù➭❿➟■➵✱➥➇➺➊➯✪➢➊➛s➜❿➝■➘✧➺➄➥s➝③➟❚➝③➳➊➛⑤➝✩✼❣➛s➜
ǫ2t =

Eh2
t

✼❣➛s➜
(η2

t ) +
✼❣➛s➜

ht ≥ ω2
✼❣➛s➜

(η2
t ) > 0

➻❣➼✦➳❝➨➊➭
κ − 1 > 0

➻ ➻ ➥s➝③➟☎➛s➞➩➭❿➥✕➝③➳➊➛⑤➝✧➝③➳➄➟✮➵✱➥➇➺➊➯✾➫ ➝③➫ ➥➇➺ ∑

ℓ |φℓ| < ∞
➫ ➧❴➢➄➞ ➫ ➟■➭ ∑∞

−∞ |ρX(i)| < ∞.
➼✦➳➄➟✮➵✱➥➇➺➊➵✱➞ ➨➊➭❿➫ ➥➇➺❇➝③➳❝➨➊➭t➤➦➥➇➞ ➞ ➥⑤➾✺➭t➤➦➜③➥➇➧➏ê✗➟✡➧❴➧➲➛➇➭✩�✾➻ ê✱➠✿�✾➻ û☎➸❤➟✡➞ ➥⑤➾☎➻

✷

ã ❺☞❼➠❼ → Ï❍❿❵➀ ➲ ➈
(ǫt)

☛✕✔❏☎✁å✣➎✩æ ➞➥ç ➅✒✘✚✑✞➆➶æ✗✔✆✔❏☎✓✎✒➔
Eǫ4t < ∞ ✌✭✠➄æ❋✎

γǫ2(h) = ➞ ✑✓↔ (ǫ2t , ǫ2t−h) ≥ 0 ∀h,

✂▲☛✍✌✭✠✄✔✗✌✙✘✗☛❵➆❋✌✧æ✾✽❋➑✧☎✓✤ ☛✍✌✙➉➙☛ ➈
α1 > 0.

ì ➔ ❻➥❻✓✵✚❿ ä ➝✍➭❿➨♥♠✴➵✱➟■➭t➝③➥✴➭❿➳➄➥⑤➾Ø➝③➳➊➛⑤➝✧➾t➟☎➳➊➛✛➽➇➟✫➛✟★✚↔✕å∞ ì✦➥s➤☞➝③➳➄➟✫➤➦➥➇➜③➧

ǫ2t = c + νt +

∞
∑

ℓ=1

φℓνt−ℓ,
➾✧➫ ➝③➳

φℓ ≥ 0 ∀ℓ.

ä ➺➊➯✾➟✡➟■➯❡➘
νt := ǫ2t − ht = (η2

t − 1)ht

➸❤➟✡➫ ➺➄➴➲➛❴➾t➟■➛s➱➲➾✧➳➄➫ ➝③➟☎➺➄➥➇➫➩➭❿➟➇➘✾➾t➟✫➳➊➛✛➽➇➟

γǫ2(h) = Eν2
1

∞
∑

ℓ=0

φℓφℓ+|h|,
➾✧➫ ➝③➳❪➝③➳➄➟☎➺➄➥s➝➶➛⑤➝③➫ ➥➇➺

φ0 = 1.

é✍➟✡➺➄➥s➝③➫ ➺➄➴✚➸❝➡
B
➝③➳➄➟✴➸➊➛➇➵➶➱✾➭❿➳➄➫ ➤ñ➝✕➥➇➢❤➟✡➜➶➛⑤➝③➥➇➜■➘✬➛s➺➊➯➅➫ ➺✔➝③➜③➥✾➯✾➨➊➵✱➫ ➺➄➴✷➝③➳➄➟❇➺➄➥s➝➶➛⑤➝③➫ ➥➇➺

α(z) =
∑q

i=1 αiz
i
➘
β(z) =

∑p
j=1 βjz

j
➛s➺➊➯

φ(z) =
∑∞

ℓ=1 φℓz
ℓ
➘➄➾t➟✫➥➇➸✾➝➶➛s➫ ➺

ǫ2t = {1 − (α + β)(1)}−1ω + {1 − (α + β)(B)}−1(1 − β(B))νt = c + φ(B)νt.

ð✹➟



ÿ❝➫ ➺➊➵✱➟
1 − β(B) = 1 − (α + β)(B) + α(B)

➘✗➾t➟✕➥➇➸✾➝➶➛s➫ ➺
φℓ

➛➇➭✺➝③➳➄➟❴➵✱➥❝➟❋♠✴➵✱➫ ➟✡➺✔➝✫➥s➤
zℓ
➫ ➺▼➝③➳➄➟❴➯✾➫ ➽❝➫➩➭❿➫ ➥➇➺▼➥s➤

α(z)
➸❝➡

1 − (α + β)(z)
➛➇➵✡➵✱➥➇➜➶➯✾➫ ➺➄➴❴➝③➥✴➝③➳➄➟✤➫ ➺➊➵✱➜③➟■➛➇➭❿➫ ➺➄➴➲➢❤➥⑤➾t➟✡➜➶➭✺➥s➤

z
➻✫↕t➡❪➜③➟■➵✱➨➄➜③➜③➟✡➺➊➵✱➟✮➥➇➺

ℓ
➘✝➫ ➝❁➫➩➭✍➟■➛➇➭❿➡❪➝③➥

➭❿➟✡➟✫➝③➳➊➛⑤➝✺➝③➳➄➟■➭❿➟✕➵✱➥❝➟❋♠✴➵✱➫ ➟✡➺✔➝➶➭✺➛s➜③➟✫➢❤➥✔➭❿➫ ➝③➫ ➽➇➟☎➸❤➟■➵✡➛s➨➊➭❿➟✫➝③➳➄➟✮➢❤➥➇➞ ➡❝➺➄➥➇➧❴➫➩➛s➞➩➭
α(z)

➛s➺➊➯
(α + β)(z)

➳➊➛✛➽➇➟✫➢❤➥✔➭❿➫ ➝③➫ ➽➇➟
➵✱➥❝➟❋♠✴➵✱➫ ➟✡➺✔➝➶➭✡➻ ä ➝✺➫➩➭✺➭❿➨♥♠✴➵✱➫ ➟✡➺✔➝✦➝③➥✴➭❿➳➄➥⑤➾Ø➝③➳➄➟☎➢❤➥✔➭❿➫ ➝③➫ ➽❝➫ ➝⑧➡✴➥s➤☞➝③➳➄➟✮➵✱➥❝➟❋♠✴➵✱➫ ➟✡➺✔➝➶➭

ci

➫ ➺❇➝③➳➄➟☎➟✱➚✾➢➊➛s➺➊➭❿➫ ➥➇➺

α(B)

1 − (α + β)(B)
=

∞
∑

i=1

ciB
i.

↕t➡✴➫ ➺➊➯✾➨➊➵①➝③➫ ➥➇➺✷➾t➟✫➢➄➜③➥⑤➽➇➟✍➝③➳➊➛⑤➝

ci ≥ α1(α1 + β1)
i−1, i ≥ 1.

å✙�✾➻ î❝ì
þÙ➟☎➳➊➛✛➽➇➟

c1 = α1
➻✯★❚➥➇➜③➟✡➥⑤➽➇➟✡➜■➘➇➾✧➫ ➝③➳✷➸❝➡❪➵✱➥➇➺❝➽➇➟✡➺✔➝③➫ ➥➇➺

αi = 0
➫ ➤

i > q
➛s➺➊➯

βj = 0
➫ ➤

j > p
➘

ci+1 = c1(αi + βi) + . . . + ci(α1 + β1) + αi+1.

➼✦➳❝➨➊➭✤➫ ➤✤å✙�✾➻ î❝ì✮➳➄➥➇➞➩➯➄➭✤➨➄➢➷➝③➥▼➝③➳➄➟✷➥➇➜➶➯✾➟✡➜
i
➘❣➨➊➭❿➫ ➺➄➴▼➝③➳➄➟❪➢❤➥✔➭❿➫ ➝③➫ ➽❝➫ ➝⑧➡➅➥s➤✺➝③➳➄➟✚❐✫↔✍❒✺❮t❰✳➵✱➥❝➟❋♠✴➵✱➫ ➟✡➺✔➝➶➭✡➘❣➾t➟❪➳➊➛✛➽➇➟

ci+1 ≥ α1(α1 + β1)
i
➻❣➼✦➳➄➟✮➵✱➥➇➺➊➵✱➞ ➨➊➭❿➫ ➥➇➺✴➤➦➥➇➞ ➞ ➥⑤➾✺➭✡➻

✷

ã ❺☞❼➠❼ → Ï❍❿✍❽✉➁ æ❋✌
ρ(·) ➃ æ✰☎✓✎➨☎✓➑♥✌❘✑✞➆✆✑✓✘✗✘③æ❋✤ ☎✓✌✙☛❵✑✓✎➄➈✆➑♥✎✒➆❋✌✙☛❵✑✓✎✝ç ➲ ➈ ∑+∞

h=−∞ ρ(h)
æ✚➭✴☛✕✔✗✌❵✔✄☎✓✎✒➔✁☛✕✔✖✎✒✑✓✌✮æ✾✽❋➑✧☎✓✤✣✌❘✑

➛■æ❋✘✚✑❭➇❫➈❋✑✓✘❏☎✓✤✍✤
i > 0

✂☛æ❂✠❲☎✓↔⑤æ

wi(ℓ) := 2ρ(i)ρ(ℓ) − ρ(ℓ + i) − ρ(ℓ − i) 6= 0
➈❋✑✓✘❂✔❑✑✓➒➲æ

ℓ > 0.

ì ➔ ❻➥❻✓✵✚❿ ÿ❝➨➄➢➄➢❤➥✔➭❿➟✫➝③➳➊➛⑤➝✧➤➦➥➇➜✺➭❿➥➇➧❴➟
i > 0

➘

2ρ(i)ρ(ℓ) = ρ(ℓ + i) + ρ(ℓ − i), ∀ℓ ≥ 1.

➼✦➳➄➟✡➺✗➘✾➝③➳➄➟☎➟■✃✔➨➊➛s➞ ➫ ➝⑧➡❇➛s➞➩➭❿➥✤➳➄➥➇➞➩➯➄➭t➤➦➥➇➜✺➛s➺❝➡
ℓ ∈ Z.

★❚➥➇➜③➟✡➥⑤➽➇➟✡➜■➘❝➭❿➨➄➧❴➧❴➫ ➺➄➴➲➥⑤➽➇➟✡➜
ℓ
➡❝➫ ➟✡➞➩➯➄➭

2ρ(i)

∞
∑

−∞

ρ(ℓ) =

∞
∑

−∞

ρ(ℓ + i) + ρ(ℓ − i) = 2

∞
∑

−∞

ρ(ℓ).

ä ➝✕➤➦➥➇➞ ➞ ➥⑤➾✺➭☎➝③➳➊➛⑤➝
ρ(i) = 1

➻▼↕t➨✾➝✕➝➶➛s➱❝➫ ➺➄➴
ℓ = i

➫ ➺➅➝③➳➄➟❇➜③➟✡➞➩➛⑤➝③➫ ➥➇➺❦➝③➳➄➟✡➺➬➡❝➫ ➟✡➞➩➯➄➭
ρ(2i) = 1

➻▼↕t➡Ù➫ ➺➊➯✾➨➊➵①➝③➫ ➥➇➺

ρ(ni) = 1
➻▲ê✗➟✱➝❿➝③➫ ➺➄➴

n → ∞ ➾t➟✫➳➊➛✛➽➇➟✫➛❴➵✱➥➇➺✔➝③➜➶➛➇➯✾➫➩➵①➝③➫ ➥➇➺✗➻

✷

Û ✇⑨④✓✇✦Þ◗✇✧Ü❪â❶✇⑨③

✿✬❀✭❁✻❂✻❃❅❄✢❂✌❂❇❆✚❈❊❉❅❋✗❉●✙ ð✧✷ ➵ Ó✢✜■❍ ☎➷ÿ ü ù✲ÿ ü ù✌✏☞ø❋ù❭ÿ✗õ✠✒✧✂❀ý✗✟✡�◗ù✌✒❭õ❑❏✄✒✧✂❀ÿ✗õ✠✏✔☎✰✂✆☎✕✝✘✟✯✂✆✪✫�❍ý✍õ✥☎❍ö▲�❍ø✑✏✔�◗ù❭ø✗ÿ✗õ✭ù✌✟✤✏❀þ▼✂❀÷❍ÿ✑✏✆◆
✒✌✏☞ø✗ø❋ù❭ý☛✂❀ÿ❋ù✌✝➨ÿ✗õ✥✪✁ù✫✟❋ù❭ø✗õ✭ù✌✟✧✛✫❖✄P✧◗✢◗❙❘➦Ð❯❚▼Ð❯❱✄❲❳❲⑧Ó❨❲❅❩❡Ð✫❬❤Ó✔P❤Ô❯❱❙❭✔❘✍Ó✾❪✬❲❅❩❡Ð❴❫☎Ó❝Ñ✢❭✔❘❵❖❙❲❛❭❇❲❝❜❊Ö❞❲❝❜★❡✑❭✔❘❵❖★Ó✧❡❞❜⑧Ð❞❲✏Ñ ò
❧ é✧◆✿➵ ð ✛

✿✬❄✱❁✔❃❝❢❝❣❤❄✢❂▲✐❨❉❝❆✚❥❦❁✆❀✕❣❤❧✢♠♦♥●❉●✙ ð✧✷❇✷ é ✜✎❍ ☎♣✲✁✂❀ø✗ÿ✗ý✭ù❭ÿ✗ÿ✧q ✟➙þ★✏☞ø✡✪✲÷❍ý☛✂✥þ★✏☞ør☎✕✏✔☎❍ý✍õ✥☎➥ù✧✂❀ø❴�❍ø✑✏✓✒✓ù✌✟✑✟❋ù✌✟✧✛❨❬❤Ó✔P❤Ô❯❱❙❭✔❘
Ó✾❪ts❤❜❅❚▼Ð✤❖✟Ð■Ô❯❜⑧Ð✡Ö✤✉✈❱❙❭✔❘ Ñ✔Ö❯❜❊Ö ð✹ò➄➽♥➟♥➽✧✇✒➽♥➽♥❧ ✛

ð ➵



✿✬①❙❃❝❃❅❄✱❁✆②✻❃❅❄✢③⑤④✫❉▲✙ ð✧✷♥ò♥Ó✢✜r⑥ ù❞☎➥ù❭ø✯✂❀ý✍õ✥⑦✹ù✌✝♣✂❀÷❍ÿ✑✏☞ø❋ù❭ö♥ø❋ù✌✟✑✟✗õ✥⑧❲ù✫✒✌✏✔☎✕✝✒õ✍ÿ✗õ✠✏✔☎✄✂❀ý ü ù❭ÿ❋ù❭ø✑✏❇✟✡⑨❲ù✌✝✕✂✔✟✗ÿ✗õ✠✒❭õ✍ÿ⑩☞✢✛❨❬❤Ó✔P❤Ô❯❱❙❭✔❘
Ó✾❪■❶✁❡✱Ó✔❱✬Ó✔❚▼Ð❞❲✏Ô❯❜★❡■Ö ➟✝ð✖➟❇✸ é ✇✒➟♥❧ é✓✛

✿✬❁✆①❦❧✆❷❹❸❴❄✓❃❝❃❻❺❳❉❑❼✗❉❝❆✗❽❾❀✢③❤❢❅②●❿➀❉✠✐❨❉●✙ ð✧✷❇✷✝ð✻✜ s❤❜❅❚▼Ð➁❖✟Ð■Ô❯❜⑧Ð✡Ös×➂s✞❩❡Ð①Ó❝Ô■Ñ❊❭✔❱✬Õ➄➃qÐ❞❲❅❩✝ÓsÕ✔Ö❞✛➆➅✱�❍ø✗õ✥☎❍ö❲ù❭ø✾◆
➇✩ù❭ø✗ý☛✂❀ö✕✦✄➈✛ù❞➉➊◆★➋❻✏☞ø✡⑨❹✛

❽❨❢❅❄✱➌✚①❙❃❅➍♦❥■❉✥➎➀❉▲✙ ð✧✷♥ò♥Ó✢✜✣û ù✌✟✗ÿ✗õ✥☎❍ö✟þ★✏☞ø✚➅❫ù❭ø✗õ☛✂❀ý❙➏▼✏☞ø✗ø❋ù❭ý☛✂❀ÿ✗õ✠✏✔☎➄õ✥☎✰ÿ ü ù➊➐⑨ø❋ù✌✟❋ù❞☎✕✒✓ù➊✏❀þ❹➑■➒❳➏▼➓❴✛❇➔❁Ô①Ó✧❡✡Ð✱Ð①Õ✔❜❅❱✓→✔Ö
Ó✾❪❴❲❅❩❡Ðr➣✁P➊Ö❯❜❅❱★Ð✡Ö✡Ö✬❭✔❱✬Õ●❶✁❡✱Ó✔❱✬Ó✔❚✬❜★❡■Ö✩❖❙❲❛❭❇❲❝❜❊Ö❞❲❝❜★❡■Ör❖✟Ð✡❡✌❲❝❜✼Ó✔❱✄✦✄➑✈✪✁ù❭ø✗õ✠✒✧✂✆☎✮➅✧ÿ✯✂❀ÿ✗õ✠✟✗ÿ✗õ✠✒✧✂❀ý✗➑■✟✑✟✑✏✓✒❭õ☛✂❀ÿ✗õ✠✏✔☎✞✦
➟♥❧♥➟✧✇✒➟♥❧♥ò ✛

↔✤❣❤↕❙❃❅❄➀❿➀❉✠❥■❉●✙ ð✧✷♥ò♥❧✢✜ ➑❏÷❍ÿ✑✏☞ø❋ù❭ö♥ø❋ù✌✟✑✟✗õ✥⑧❲ù✘✒✌✏✔☎✕✝✒õ✍ÿ✗õ✠✏✔☎✄✂❀ý ü ù❭ÿ❋ù❭ø✑✏❇✟✡⑨❲ù✌✝✕✂✔✟✗ÿ✗õ✠✒❭õ✍ÿ⑩☞♦➉✜õ✍ÿ ü ù✌✟✗ÿ✗õ✥✪▲✂❀ÿ❋ù✌✟➙✏❀þ✲ÿ ü ù
⑧❇✂❀ø✗õ☛✂✆☎✕✒✓ù✎✏❀þ②ÿ ü ù✎➛✈☎❍õ✍ÿ❋ù✌✝❨➜✟õ✥☎❍ö✢✝✭✏✔✪➣õ✥☎✍➝❙✂❀ÿ✗õ✠✏✔☎✞✛▼❶✁❡✱Ó✔❱✬Ó✔❚▼Ð❞❲✏Ô❯❜★❡✑❭ ➽❇✸●✷♥ò é ✇✬ð✧✸❇✸ é✓✛

❥❦❀✕❣➁❼✗❉❝❆❤➞r❀✭①⑤➟➙❉▲✙ ❧❇✸❇✸♥➟✢✜ ➈■✏✔☎❍ý✍õ✥☎➥ù✧✂❀ø û õ✥✪✁ù✈➅❫ù❭ø✗õ✭ù✌✟ ú ➈■✏✔☎✭�✄✂❀ø✯✂✆✪✁ù❭ÿ✗ø✗õ✠✒✈✂✆☎✕✝✫➐✗✂❀ø✯✂✆✪✁ù❭ÿ✗ø✗õ✠✒✈✖➓ù❭ÿ ü ✏✓✝✭✟✧✛
➅✱�❍ø✗õ✥☎❍ö❲ù❭ø✾◆❛➇✩ù❭ø✗ý☛✂❀ö✕✦❙➈✛ù❞➉➠➋❻✏☞ø✡⑨❹✛

➡ ❁✆❀✕❣❤↕✄❄✱❁❾♥●❉❑➢➤❉❑❼✗❉❝❆➥✐t❣❤➍❵❄✱❁✆②✧❄✓❣♦✐❨❉✥❺❳❉●✙ ð✧✷ é ò✢✜ ✉✈❱✰❜❅❱✄❲✏Ô①ÓsÕ✔P✭❡✌❲❝❜✼Ó✔❱♣❲⑧Ó➀➦❯❜❅❘ ❜❅❱★Ð✡❭❝Ô✬❲❝❜❅❚▼Ð❇ÖsÐ■Ô❯❜⑧Ð✡Ö✬❚✚ÓsÕ✔➧
Ð❯❘ Ö✧➨✚➇❻✂✆☎✕✝❍ù❞☎ ü ✏❫ù❞⑨❨✂✆☎✕✝❨➒✏÷✭�❍ø❋ù✌✒ ü ÿ✧✦ ⑥ ✏☞ÿ✗ÿ✗õ✥☎❍ö❲ù❞☎✞✛
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